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Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870283
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087010345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teaching differs from training and conditioning in so far as it promotes

1. Disciplined drill

2. Critical thinking

3. Steady association
4. Mastery of facts
Options :
71087041281. 1
71087041282.2
71087041283. 3
71087041284. 4

Question Number : 1 Question Id : 71087010345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafaa # 3 foad dada o e ord ufRiar ok sHde= 9 g 8 7
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3. R g

4. 7 o udioran
Options :
71087041281. 1
71087041282. 2
71087041283, 3
71087041284. 4

Question Number : 2 Question Id : 71087010346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the spectrum of teaching methods given below, which are considered dialogic?
A. Laboratory work

B. Demonstration

C. Tutorials

D. Group discission

E. Project work

Choose the correct answer from the options given below

1. Cand D only
2. A and B only
3. B and C only
4. D and E only



Options :

71087041285. 1
71087041286. 2
71087041287. 3
71087041288. 4

Question Number : 2 Question Id : 71087010346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frafafaa Rram fafidl & sdie aen) d oo fafia! of daeme a1 A s ?

A. TORTEIE ®Y
B. Ua=H

C. SFfRTET
D. YHg 9di
E.ORGNHT (Uiide) &Y

FafeRad faeedl § ¥ U5l 3wk &1 98- o1 ;

1.®dd C AR D
2. HAAA AR B
3. HaAB AR C
4. HaAD AR E
Options :
71087041285. 1
71087041286. 2
71087041287. 3
71087041288. 4

Question Number : 3 Question Id : 71087010347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Identify from the following, those features of key behaviours which are contributive to the
effectiveness of teaching

A. Lesson clarity which implies making ideas clear to the learner

B. Questioning-implying fact and concept based questions

C. Probing involving eliciting and soliciting moves

D. Teacher-task orientation with a focus on outcomes of the unit clearly defined

E. Engagement in the learning process which implies the amount of time students devote to
learning

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3. A DandE only
4. B, D and E only
Options :
71087041289. 1
71087041290. 2
71087041291. 3
71087041292. 4

Question Number : 3 Question Id : 71087010347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3d A, B3R C
2. Paa B, C 3R D
3. PadA D3IARE
4, $3daB, D3ARE
Options :
71087041289. 1
71087041290. 2
71087041291, 3
71087041292. 4

Question Number : 4 Question Id : 71087010348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following factors contributing to school learning are termed as social
competence?

A. Motivation

B. Intelligence

C. Social skills

D. Family support

E. Specific abilities of the learner

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, B and C only
3. B, Cand D only
4. C, D and E only
Options :
71087041293. 1
71087041294. 2
71087041295. 3
71087041296. 4

Question Number : 4 Question Id : 71087010348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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WIdl B ?
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. Sl

C. HrHIfTh B

D. TIRaIR® Hag (FUid)
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1. ®3d A, C3RD
2. Pad A, B3R C
3. PaA B, C3IRD
4. H3aC, DIARE
Options :
71087041293. 1
71087041294. 2
71087041295, 3
71087041296 4

Question Number : 5 Question Id : 71087010349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Methods of estimating the reliability of a|Description
test

I. Administering the test in one session with
A. Test-retest method , 5
two equivalent halves of the test for correlation

Il. Two or more raters score the test
B. Alternate form method i
independently

, Ill. Administering the same test to the same
C. Split-half methed , .
group at two different sessions

IV. Administering the two forms of the test to
D. Inter-rater method

the same group at two different sessions

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-LC-IV,D-IlI
JA-IV,B-LC-1LD-|
4 A-IILB-IV,C-LD-I
Options :

71087041297. 1
71087041298. 2
71087041299. 3
71087041300. 4

Question Number : 5 Question Id : 71087010349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-1L,B-ILC-I,LD-1V
ZA-1,B-1L,C-1V,D-1l
3JA-WV,B-1L,LC-II,LD-1
4 A-LB-IV,C-1,D-I
Options :

71087041297. 1
71087041298. 2
71087041299. 3
71087041300. 4

Question Number : 6 Question Id : 71087010350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following research is intervention-based, cyclic in nature and improvement
focused?

1. Case study research

2. Survey research

3. Experimental research
4. Action research
Options :

71087041301. 1
71087041302. 2
71087041303. 3
71087041304. 4

Question Number : 6 Question Id : 71087010350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fgfefad o O SH-T1 XY 54T 11, 9910 Udid 3R gUR diad g ?

1. TP eG4 2y
2. TA&0T 1Y

3. TS 2
4, Tor TS Ty
Options :
71087041301. 1
71087041302. 2
71087041303. 3
71087041304, 4

Question Number : 7 Question Id : 71087010351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Using an appropriate parametric test in a research project, the researcher finds evidence to
reject the Null hypothesis. In doing so, which type of error is likely

1. Alpha error

2. Beta error

3. Both Alpha and Beta errors
4. Neither Alpha nor Beta error
Options :

71087041305. 1

71087041306. 2

71087041307. 3

71087041308. 4

Question Number : 7 Question Id : 71087010351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041305. 1
71087041306. 2
71087041307. 3
71087041308. 4

Question Number : 8 Question Id : 71087010352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A college/university teacher plans to test his/her substantive research hypothesis in a major
project. Which of the following statements are considered relevant in this regard?

A. Substantive research hypothesis has to clearly specify the relationship among variables
B. Research hypothesis may be directed at finding out differential effects or relationships
C. Null hypothesis should be formulated beforehand

D. There is direct support available for testing the substantive research hypothesis

E. The final decision on the research hypothesis may be reached indirectly by deciding the fate
of the Null hypothesis

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3. A DandE only
4. A B and E only
Options :
71087041309. 1
71087041310. 2
71087041311. 3
71087041312. 4

Question Number : 8 Question Id : 71087010352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3d A, B3R C
2. Paa B, C 3R D
3. PadA D3IARE
4 HIAA BIARE
Options :
71087041309. 1
71087041310. 2
71087041311. 3
71087041312. 4

Question Number : 9 Question Id : 71087010353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Sampling techniques used in research |Description

A. Simple random sampling I. The units are identified in terms of various
specific features identified before drawing a
sample structure

B. Systematic sampling Il. Each unit is given an equal independent chance
of being picked up

Ill. The k-interval is obtained by N/n and the units

C. Dimensional sampling , . .
are drawn using the same, where N is population

size and n is desired sample size.

D. Snowball sampling IV. First member unit is used to identify the second
unit and so on

Choose the correct answer from the options given below:

TA-L,LB-IV,C-11,D-IlI
ZA-ILB-ULC-1L,D-V
JA-IV,B-ILC-MLD-I
4 A-IILB-LC-IV,D-1I
Options :

71087041313. 1
71087041314. 2
71087041315.3
71087041316. 4

Question Number : 9 Question Id : 71087010353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-L,LB-IV,C-11,D-IlI
ZA-ILB-ULC-1L,D-V
JA-IV,B-ILC-MLD-I
4 A-IILB-LC-IV,D-1I
Options :

71087041313. 1
71087041314. 2
71087041315.3
71087041316. 4

Question Number : 10 Question Id : 71087010354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Empirico-inductive paradigm in research focuses on meaning-giving subjective
perspectives to depict reality

Reason R: The purpose of research in this paradigm is not to arrive at generalizations but to
discover the reality as lived

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087041317. 1

71087041318. 2

71087041319. 3

71087041320. 4

Question Number : 10 Question Id : 71087010354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087041317. 1

71087041318. 2

71087041319. 3

71087041320. 4

Sub-Section Number : 2
Sub-Section Id : 710870284
Question Shuffling Allowed : Yes

Question Id : 71087010355 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer questions that follow

Marketers are reexamining their relationships with social values and responsibilities and with
the wvery Earth that sustains us. As the worldwide consumerism and environmentalism
movement mature, today's marketers are being called on to develop sustainable marketing
practices. Corporate ethics and social responsibility have become hot topics for almost every
business. And few companies can ignore the renewed and very demanding environmental
movement. Every company action can affect customer relationships. Today's customers expect
companies to deliver value in a secially and environmentally responsible way.

The social-responsibility and environmental movements will place even stricter demands on
companies in the future. Some companies resist these movements, budging only when forced
by legislation or organized customer outcries. Forward-looking companies, however, readily
accept their responsibilities to the world around them. They view sustainable marketing as an
opportunity to do well by doing goeod. They seek ways to profit by serving immediate needs
and the best long-run interest of their customers and communities.

Some companies, such as Patagenia, Ben & Jerry's, Timberland, Method, and others, practice
caring capitalism, setting themselves apart by being civic-minded and responsible. They build
social linkages.

Sub questions

Question Number : 11 Question Id : 71087010356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The present-day marketers have focused on

1. Consumerism

2. Social obligations

3. Sustaining their business practices
4. Competitive business

Options :

71087041321. 1

71087041322. 2

71087041323. 3

71087041324. 4

Question Number : 12 Question Id : 71087010357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concern for today's society centres on

1. Marketing strategies

2. Customer relations

3. Corporate ethics

4. Delivery of value for money
Options :

71087041325. 1

71087041326. 2

71087041327. 3

71087041328. 4

Question Number : 13 Question Id : 71087010358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What do farsighted companies prefer?

1. Sustainable marketing

2. Legislative compulsion

3. Organised consumer pressure
4. Status quo in the market
Options :

71087041329. 1

71087041330. 2

71087041331. 3

71087041332. 4

Question Number : 14 Question Id : 71087010359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, sustainable marketing is perceived as

1. Immediately profitable

2. Community fallacy

3. Doing good to community as an opportunity
4. Long-term burden to society as a difficult issue
Options :

71087041333. 1

71087041334.2

71087041335. 3

71087041336. 4

Question Number : 15 Question Id : 71087010360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Caring capitalism is inclusive of

A. Make profit by ignoring social demands

B. Being civic-minded

C. Forging social linkages

D. Budge when there is a legislative nudge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087041337. 1
71087041338. 2
71087041339. 3
71087041340. 4

Question Id : 71087010355 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087010356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041321. 1

71087041322 2

71087041323, 3

71087041324 4

Question Number : 12 Question Id : 71087010357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIS & TH &1 T ] 1 haleg o -

1. fquue IoifaEl

2. Jiedh Hay
ENEHIER Elfaaiﬂ

4. T & Tol Heg UeH &3]
Options :

71087041325, 1
71087041326. 2
71087041327. 3
71087041328. 4

Question Number : 13 Question Id : 71087010358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041329. 1
71087041330. 2
71087041331. 3
71087041332. 4

Question Number : 14 Question Id : 71087010359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. T ATHYGdr

2. JHaId® YHSl
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Options :

71087041333, 1

71087041334, 2

71087041335. 3

71087041336. 4

Question Number : 15 Question Id : 71087010360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. HaAB AR C
3. HAAC IR D
4. HAAA AR D
Options :
71087041337. 1
71087041338. 2
71087041339, 3
71087041340. 4

Sub-Section Number : 3
Sub-Section Id : 710870285
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087010361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept ‘fraction of selection’ in classroom communication is determined by the
expectation of reward related to

1. Efforts needed

2. Reviews needed

3. Peer pressure needed
4. Time-lag needed
Options :

71087041341. 1
71087041342. 2
71087041343. 3
71087041344. 4

Question Number : 16 Question Id : 71087010361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HEg UYO § ~ 999 & AT B HFUR &1 FuR 9 O S6fbd ufawa &1 Susl gx &
Gﬂ?ﬂ%:

1. HGRTH U

2. HTaegd gHI&m

3. HG® JOHAT Galg
4, HT9GH GHOIQR
Options :
71087041341. 1
71087041342, 2
71087041343. 3
71087041344, 4

Question Number : 17 Question Id : 71087010362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Efficacy of written communication depends upon

A. Lengthy presentation

B. Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.C, D and F only
4. D, Eand Fonly
Options :
71087041345. 1
71087041346. 2
71087041347. 3
71087041348. 4

Question Number : 17 Question Id : 71087010362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



feTRad SUwU 1 THITEE! 59 IR ARG 6 -

A. Sgd el TEdi® 0l
8. Udial a1y fa=ary

c. fera @ a1 guieH
D. aTl H g&Hal

E. B Teal B YGHT
F. Teal &1 YHTAl GGRT
e fdded & 98- oY ;

1. ®3d A, B3R C
2. Paa B, C 3R D
3. PaqAC, D 3MRF
4, H3AD, EARF
Options :
71087041345, 1
71087041346. 2
71087041347, 3
71087041348, 4

Question Number : 18 Question Id : 71087010363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques

Reason R: In teacher-centric communication, students tend to become passive listeners
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087041349. 1

71087041350. 2

71087041351. 3

71087041352 4

Question Number : 18 Question Id : 71087010363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HTHGYH (A) : T8 HEUF B HHGRI & [ g6 14T aiedl de-i®] & erddl 4 faeiaf
@I Gfehd Hidl a91d

b (R) : SAUF - Sigd Suny qenfiafl 1 g s s car gl
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) TEl & TR (R) TE! T

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087041349. 1

71087041350. 2

71087041351. 3

71087041352. 4

Question Number : 19 Question Id : 71087010364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List I

Type of communication Characteristics

A. Intra-personal l. Between persons

B. Inter-personal Il. within a small organisation

C. Group Il Large number of unknown audience
D. Mass IV. Within oneself

Choose the correct answer from the options given below:

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

71087041353. 1
71087041354. 2
71087041355. 3
71087041356. 4

Question Number : 19 Question Id : 71087010364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gaii-1 &l Tall-1l ¥ gHfed Sifo

gal-| gl-11

YU BT TBR ICEILGIL

A, 3 dglda® | ATl & 9

B. 3R dufdd® II. Y W13 & &l

C. 998 11 ST YidTel &1 g2t g
D. SH-HHeH v, %ad g

g 9ol § § Yel SR &1 99 31 :

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-IV,B-LC-1I,D-1I
Options :

71087041353. 1
71087041354. 2
71087041355. 3
71087041356. 4

Question Number : 20 Question Id : 71087010365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement lI: Impersonal communication is invariably considered the best solution in a
classroom environment

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087041357. 1

71087041358. 2

71087041359. 3

71087041360. 4

Question Number : 20 Question Id : 71087010365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T el Fy R e g

HYA-| : DEFTI Yfd H safdicd g Uil Sa:fehar & fau avs ¢

HUF-1I : HAGGaD YUY BRI URA H Urg: GaTad SR HHT offdl 5|
SUdEd B! & Hai® | FEied el o 3 Fallie Juged I g ;

1. ®YF | 3R || Hf Tal &

2. B | 3R | gFf el T8 B

3. BYH-1 el &, fbd DYH-11 UL ol &
4. DYH-| Uel 15! 8, fdowq Y- el B
Options :

71087041357. 1

71087041358, 2

71087041359. 3

71087041360 4

Question Number : 21 Question Id : 71087010366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given three numbers, first is twice the second and is half of the third. If the average of three
numbers is 56, then the difference of first and third number is

1.12

2 24

3. 36

4.48

Options :
71087041361. 1
71087041362. 2
71087041363. 3



71087041364. 4

Question Number : 21 Question Id : 71087010366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
i o9 gy € R B | ued e o OB @1 gl 6 oyl aresl g @t et g1 afg dEt
AT BT 30d 56 & I Ugail SR drasl ST @ 3Hd B -

1.12

2. 24

3.36

4.48

Options :
71087041361. 1
71087041362. 2
71087041363. 3
71087041364. 4

Question Number : 22 Question Id : 71087010367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series

2,10, 26, 50,

-
=
]

94

82

104
Options :
71087041365. 1
71087041366. 2
71087041367. 3

g WD



71087041368. 4

Question Number : 22 Question Id : 71087010367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2,10, 26, 50 __ 1 401 H 3Tl 3 B R0 B -

1. 78

94

82

104
Options :
71087041365. 1
71087041366. 2
71087041367. 3
71087041368. 4

4w

Question Number : 23 Question Id : 71087010368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A man in a train notices that he can count 31 telephone poles in one minute. If the poles are at
equal intervals of 50m, what is the speed of the train?

1. 50 km/hour
2. 60 km/hour
3. 80 km/hour
4. 80 km/hour
Options :

71087041369. 1
71087041370. 2
71087041371. 3
71087041372. 4



Question Number : 23 Question Id : 71087010368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o1 ¥ o1 38T U SfIGH! HIfey &l ¢ fdh 98 U e H 31 TolhiH & THl &1 9 I&d1 51 3fg
T 50 Hiex of Foihd g R Bl a1 o @ Wis T ar ?

1. 50 T L. / Aidee
2. 60 T Hl. / Ufaden
3. 80 T A1, / ufaden
4. 90 fo AL / AidEe
Options :
71087041369. 1
71087041370. 2
71087041371. 3
71087041372. 4

Question Number : 24 Question Id : 71087010369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of Rs.50,000.00 is invested in a bank deposit for 1 year at an interest rate of 10% per
annum, compounded on a half-yearly basis. What is the amount of interest at the end of 1
vear?

1. 5125

2. 5250

3. 5500

4. 5150
Options :
71087041373. 1
71087041374. 2
71087041375.3



71087041376. 4

Question Number : 24 Question Id : 71087010369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. 50,000/- 1 IHY §b T 1 I & oL 10% Uiday & o7 G /9] &1 74| T8 o7 o diftfa
YR 93 UR@IOd idl & dl 1 910 & 3id H o1 @1 3H ad1 i ?

1. 5125

2. 5250

3. 5500

4. 5150
Options :
71087041373. 1
71087041374. 2
71087041375.3
71087041376. 4

Question Number : 25 Question Id : 71087010370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, what is the next term?
abef, bedg, cdeh, defi,

1. efij

2. efgi

3. efgj

4. def]
Options :
71087041377. 1
71087041378. 2



71087041379. 3
71087041380. 4

Question Number : 25 Question Id : 71087010370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1 31&RT BT Y& | 377 Ug, a1 I
abef, bedg, cdeh, defi,

1. efij

2. efgi

3. efgj

4. def]
Options :
71087041377. 1
71087041378. 2
71087041379. 3
71087041380. 4

Question Number : 26 Question Id : 71087010371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sequential order of syllogism in Nyaya philosophy is
A. Nigman

B. Udaharana

C. Hetu

L. Upanaya

E. Pratigya

Choose the correct answer from the options given below

1.AECD,B
2ZECBAD
3.EB.CD A
4D,A B CE
Options :

71087041381. 1
71087041382. 2
71087041383. 3
71087041384. 4

Question Number : 26 Question Id : 71087010371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T G-ARE H <01 9169 ©! HHdGdl & -
A A

Tofefeg e d a8l TR BT 9ga &3

1.AECD,B
2ZECBAD
3.EB.CD A
4D,A B CE
Options :

71087041381. 1
71087041382. 2
71087041383. 3
71087041384. 4

Question Number : 27 Question Id : 71087010372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the sequential order of a comprehensible sentence in Nyaya philosophy
A. Akanksha

B. Yogyata

C. Tatparya

D. Sanniddhi

Choose the correct answer from the options given below

1.D,C B, A
2.A B D,C
3.C,D,B A
4.D,C A B
Options :
71087041385. 1
71087041386. 2
71087041387.3
71087041388. 4

Question Number : 27 Question Id : 71087010372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1Y GRARIRE H 94 G B HEGl [T -
A. TG

B. TGl

C. areqd

D. gy

A feu 71T faeedl # € Uel I &1 99 &Y ;

1.D,C B A
2.A B D,C
3.CDB A
4.D,C A B
Options :
71087041385.
71087041386.
71087041387.
71087041388.

AW O~

Question Number : 28 Question Id : 71087010373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"To infer rain in the past by perceiving muddy water in the pond’, is

1. POrvovat anumana

2. Sesvatanuman

3. Both Parvovat anumana and Sesvatanuman
4. Comparison

Options :

71087041389. 1



71087041390. 2
71087041391. 3
71087041392. 4

Question Number : 28 Question Id : 71087010373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
drene § ®i9egad 9l & 44 § g1l 8iH &1 ey a6 -

1. g4 SFHH
2. I9ad SHH
3.1 3R 2 &Ml
4 g
Options :
71087041389. 1
71087041390. 2
71087041391. 3
71087041392. 4

Question Number : 29 Question Id : 71087010374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fallacy (thetvabhasha) produced in the conclusion due to the repudiation of Sadhya by
Hetu is known as

1. Savyabhichara
2. Viruddha

3. Satpratipaksha
4. Asiddha
Options :
71087041393. 1



71087041394. 2
71087041395. 3
71087041396. 4

Question Number : 29 Question Id : 71087010374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

£ R 91 b WS & BRI 56N FoTeH & 68 PR BT SarH Hel ol & 7

1. TAEER

2. faesg

3. Gaufage

4, g
Options :
71087041393. 1
71087041394. 2
71087041395.3
71087041396. 4

Question Number : 30 Question Id : 71087010375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are four propositions. Two of them are related in such a way that they cannot be
true, although they can be false. Select the code that states those two propositions

A. All men are honest

B. No men are honest

C. Some men are honest

D. Some men are not honest

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only
Options :
71087041397. 1
71087041398. 2
71087041399. 3
71087041400. 4

Question Number : 30 Question Id : 71087010375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



4 or ufaghral €1 T 8, 39 3 & U8 Ui § a7 3 9 81 81 Idd eIt 4 ad 8l 9@
%, 31 6l Uiighdl & G &I 99+ ®x :

A ¥t e SHFER ©

B. ®i5 f AOfFd SHFGR ol Bidl

C. 9 HAld SHFGR &

D. TS Afad SHFER el oid

e feg 71e faeeul 9 U 9et ST &1 957 Sifer

1. H3d A 3R B
2. PaaB AR C
3. PaA C IR D
4 BT AARD
Options :
71087041397. 1
71087041398. 2
71087041399. 3
71087041400, 4

Sub-Section Number : 4
Sub-Section Id : 710870286
Question Shuffling Allowed : Yes

Question Id : 71087010376 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Consider the data in the given table and answer the questions that follow

The following table is on the Expenditures of Institution (in lakh Rupees) per annum over the

given years
Heads of Expenditure (in lakhs)
Salary  of Interest  on
Year TransportBonuses Taxes
Staff Loan
2015 288 98 3 23.4 83
20 76| 342 112 2.52 32.5 108
207 7] 324 101 3.84 41.6 74
2018 336 133 3.68 6.4 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 71087010377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average amount of interest per year that the institution had to pay?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087041401. 1
71087041402. 2
71087041403. 3
71087041404. 4



Question Number : 32 Question Id : 71087010378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount of bonus paid by the institution during the given period is approximately
what percent of the total amount of salary paid during this period?

1. -3 %
2. -4 %
3. -7 %
4 -1 %
Options :

71087041405. 1
71087041406. 2
71087041407. 3
71087041408. 4

Question Number : 33 Question Id : 71087010379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Total expenditure on all these items in 2015 was approximately what per cent of the total
expenditure in 20197

1. 84.63 %

2. 58 %
3.91%

4.73 %
Options :
71087041409. 1
71087041410. 2
71087041411. 3
71087041412. 4



Question Number : 34 Question Id : 71087010380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The total expenditure of the institution on these items during the year 2017 is

1. 624.6

2. 52444

3. 544.44
4.591.41
Options :
71087041413. 1
71087041414. 2
71087041415.3
71087041416. 4

Question Number : 35 Question Id : 71087010381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio between the expenditure on taxes for the years 2016 and 2018, is approximately

T 1511

2. 2722

3 3127
4.19:17
Options :
71087041417. 1
71087041418. 2
71087041419. 3
71087041420. 4

Question Id : 71087010376 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (31 to 35)
Question Label : Comprehension

A= &t TS TR BT SfaeeT B¢ Y G0 T4 Iuf § TR $ 4l (g $Udl §) &7 gfagd
FHURRUN SIS :

=0 & Y (@t 1)
gy , _
HEAN ® | gRded a9 U O g T
dd-
2015 288 g 3.00 234 83
2016 342 112 2.52 32.5 108
2017 324 101 3.84 416 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 71087010377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g1 o ufaay ofied fdd-1 =1l 9@ USdl @ ?

1. 30.50
2. 36.66
3.39.66
4. 41.02
Options :
71087041401. 1
71087041402. 2
71087041403. 3
71087041404. 4

Question Number : 32 Question Id : 71087010378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sfeafad afd § O 5 9199 @1 & & U3 UeH @1 ¢ de 94 3@y & Ued &d dad @1 A1
@1 T foa UfaRd & 2

1. <3 %

2. -4 %

3«7 %

4 -1%

Options :

71087041405. 1

71087041406. 2

71087041407. 3

71087041408. 4

Question Number : 33 Question Id : 71087010379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2015 H 37 9! Hal U= 51 741 o 6T 2019 & a 044! &I aiTH a1 WiaRid o ?

1. 84.63%

2. 58%

3.91%
4.73%
Options :
710870414009. 1
71087041410. 2
71087041411. 3
71087041412. 4

Question Number : 34 Question Id : 71087010380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
qY 2017 HAM B H A Hpa AT 6 -

1. 624.6

2. 52444

3. 544 .44

4 59141
Options :
71087041413. 1
71087041414. 2
71087041415.3
71087041416. 4

Question Number : 35 Question Id : 71087010381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dY 2016 2{R 2018 H @I & ¥4 H U T o9yl & dfd &I SUrd oI faiaH 6 2

T 1611

2. 2122

3. 3127

4, 19:17
Options :
71087041417. 1
71087041418. 2
71087041419. 3
71087041420. 4

Sub-Section Number : 5
Sub-Section Id : 710870287
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087010382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation loT?

1. International Office of Tourism

2. Internet of Things

3. Internet of Think

4, Instrument of Telecommunication
Options :

71087041421. 1

71087041422. 2

71087041423. 3

71087041424, 4

Question Number : 36 Question Id : 71087010382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
loT &t &1 guf Y (Ba BiH) T8 ?

1. ST HIhY 31 R
 Sedde HIE g
.SexHe A s
 SREHE AP BB
Options :

71087041421. 1

71087041422. 2

71087041423. 3

71087041424. 4

[ S R Y

Question Number : 37 Question Id : 71087010383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which type of memory holds the computer startup routine?

1. RAM

2. WAN

3. ROM

4, Cache
Options :
71087041425. 1
71087041426. 2
71087041427. 3
71087041428. 4

Question Number : 37 Question Id : 71087010383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



___ A0 @I U UBR & ol el Te HU T @l TG &

1. K TTH

2. 8 T A
3. R TH
4. >
Options :
71087041425. 1
71087041426. 2
71087041427.3
71087041428. 4

Question Number : 38 Question Id : 71087010384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Total number of mobile users in India is increasing rapidly

Reason R: The cost of the mobile is decreasing

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

71087041429. 1
71087041430. 2
71087041431. 3
71087041432. 4

Question Number : 38 Question Id : 71087010384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HYPU (A) : YRA & AT UGl ®1 G gl © 95 8l 8
a® (R) : AIESd 1 $IAd $A 6l WGl o
Sudd BYH! & Sfcid o [gifcd fadedl § § Hallte Juddd 3wk 9 :

1. (A) 3R (R) GF G&1 & 3R (R), (A) BT FE1 SRS 21

. (A) 3R (R) GFIT WET & SR (R), (A) BT ol oI 78] ¢
(A)
(

A) U8 8 U (R) 7T & |
. (A) 7T § U3 (R) Hel B
Options :

71087041429. 1
71087041430. 2
71087041431. 3
71087041432. 4

TV

Question Number : 39 Question Id : 71087010385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The file extension of Microsoft (MS) Word document in office 2007 is

1. .docx

2 .png

3. .doc

4..jpg
Options :
71087041433. 1
71087041434.2
71087041435.3
71087041436. 4

Question Number : 39 Question Id : 71087010385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HIFY 2007 H HISH G (THUY) 98 SiagHe &l Higd [a%R & -

1. .docx

2. .png

3. .doc

4. Jpg
Options :
71087041433. 1
71087041434. 2
71087041435.3
71087041436. 4

Question Number : 40 Question Id : 71087010386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the binary number for decimal number 97

1. 1100

2. 1001
3.0111

4, 1011
Options :
71087041437. 1
71087041438. 2
71087041439. 3
71087041440. 4

Question Number : 40 Question Id : 71087010386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
GYTd U1 9 B feeR G- A1 & ?

1.1100
2.1001
3.0111
4,.1011
Options :
71087041437. 1
71087041438. 2
71087041439. 3
71087041440. 4

Question Number : 41 Question Id : 71087010387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The phenomenon of ozone depletion is caused by

A. Volatile chlorinated hydrocarbons

B. Emissions from thermal power plants

C. Combustion of urban waste

D. Excessive use of nitrogen-containing fertilizers

Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only

3. A, Band C only
4. A, Cand D only
Options :
71087041441. 1
71087041442. 2
71087041443. 3
71087041444. 4

Question Number : 41 Question Id : 71087010387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SHISTF TR o &R0 D] DRU 6 -
A, AR FeRHCS Bl sidlaA

B. YHT U6 Wiel 9 o

C. 38 g% @I G
D. ATScioH GHIMAY Skd &l HAd Tan
i fau 70 fasheal © ¥ 981 IR &1 984 &Y ;

1. ®3d A B3R D
2. PAAA R D
3. PadA, BIARC
4 B3I A, C3RD
Options :
71087041441. 1
71087041442, 2
71087041443, 3
71087041444, 4

Question Number : 42 Question Id : 71087010388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following was NOT an issue to be addressed under Millenium Development
Goals?

1. Child mortality

2. Environmental sustainability
3. Human rights

4. Primary education

Options :



71087041445. 1
71087041446. 2
71087041447. 3
71087041448. 4

Question Number : 42 Question Id : 71087010388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafea & 9 T o1 91 951 761 & forad Sediis: fard aedl & ded SH1YH fovdl o T 2

1. R g

2. gafauia gad—gar
3. HH4 fUdR

4, Ty fRrem
Options :

71087041445. 1
71087041446. 2
71087041447 3
71087041448. 4

Question Number : 43 Question Id : 71087010389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contributions to per
capita emissions of carbon dioxide emissions at present

A. India

B. China

C. USA

D. Japan

Choose the correct answer from the options given below

1.C,D B A
2B CAD
3.D,B,C A

4 C B D A
Options :
71087041449. 1
71087041450. 2
71087041451.3
71087041452. 4

Question Number : 43 Question Id : 71087010389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



goAH H B1e4 SEaeaEs Ide & Uidadiad Godeid d OFGH o aid ol & 3aiis ©H $
eI §Ec ®i UgdiH DX :

A. HRA

B. A

C. §gad Y 3HRSDT

D. STUH

7 fameal & 9 w8l ST T 9g7 &<

1.C,D, B, A
2B CAD
3.D0,B,C A
4.C, B, D A
Options :
71087041449. 1
71087041450. 2
71087041451. 3
71087041452. 4

Question Number : 44 Question Id : 71087010390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the contemporary environmental discourse, small hydropower plants are
prefered over large hydropower plants

Reason R: Installation of a small hydropower plant is less capital intensive compared to a large
hydropower plant

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087041453. 1

71087041454. 2

71087041455. 3

71087041456. 4

Question Number : 44 Question Id : 71087010390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



id Gl &y fGu U § : User SifiduH (A) ARG dd (R) §

HYEHYH (A) : GHGICHH FaiaRul Tdisl H 93 gr3aIar Wicl U oY gl3e/ular Wiiel @l agdl
HESIEG S

dd (R) : 93 BISSIUGR Wil &I qo-l § oY SISiulaR icl &I R § & Yol oidi & |
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel RSAT F51 3|
3. (A) TE1 8 R (R) TE1 T &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087041453. 1

71087041454. 2

71087041455. 3

71087041456. 4

Question Number : 45 Question Id : 71087010391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Day time noise standard prescribed for residential areas in India is

1.75dB
2.65dB
3.55dB
4.50dB
Options :
71087041457. 1
71087041458. 2
71087041459. 3
71087041460. 4



Question Number : 45 Question Id : 71087010391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

R H g e far R d Ry e ams © -

1.75dB
2.65dB
3.55dB
4.50dB
Options :
71087041457. 1
71087041458. 2
71087041459. 3
71087041460. 4

Question Number : 46 Question Id : 71087010392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Takshashila, an ancient centre for higher learning in India, was declared as a heritage site by
the UNESCO in

1. 1980

2. 1982
3.1984

4. 1986
Options :
71087041461. 1
71087041462. 2
71087041463. 3
71087041464. 4



Question Number : 46 Question Id : 71087010392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd H I R & Wi ds & 34 H A& @1 T3] g g 98 7 RIgy »d & &0 H
Hifyd favar 7 7

1. 1980

2. 1982

3. 1984

4. 1986
Options :
71087041461. 1
71087041462. 2
71087041463. 3
71087041464. 4

Question Number : 47 Question Id : 71087010393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rashtriya Uchchatar Shiksha Abhiyan (RUSA), a Centrally Sponsored Scheme aiming at
providing strategic funding to eligible state higher educational institutions, was launched in

1. 2010

2. 2011

3. 2012

4. 2013
Options :
71087041465. 1
71087041466. 2
71087041467. 3
71087041468. 4



Question Number : 47 Question Id : 71087010393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

UPTY I RIS SATHTH (3R Y TE Q) S U iy UKiiond gieHT & 3R e 3830 U e
FeaeR QNeiftre Y= ! YrAe fad GIe0 He &l g, BT YHRY B foodl 7137 o7 7

1. 2010

2. 2011

3. 2012

4, 2013
Options :
71087041465. 1
71087041466. 2
71087041467. 3
71087041468. 4

Question Number : 48 Question Id : 71087010394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gross Enrolment Ratio (GER) in higher education is the total enrolment in higher education,
regardless of age expressed as a percentage to the eligible official population in a given
school year. Which of the following age groups explain the eligible official population in this
regard?

1. 16-21 years
2. 17-22 years
3. 18-23 years
4. 19-24 years
Options :

71087041469. 1
71087041470. 2



71087041471. 3
71087041472. 4

Question Number : 48 Question Id : 71087010394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SR FRIET H W T U (Glig3HR) =R RIgT H G 39 FRUS THid yed ¥pa a4
ﬁmﬂNﬁmﬁmﬁﬁﬁ@u%ﬂﬁﬂﬁﬁﬁﬂﬁ&ﬁMMﬂﬁm%ﬁﬁkﬁﬂﬁﬁﬁﬁﬁdﬁﬁmﬁ-
g1 g 948 U ATEa1a s34 &l G2idl & ?

1.16-21 39
17 -22 99
18-23 94
10 - 24 @4
Options :
71087041469. 1
71087041470. 2
71087041471. 3
71087041472 4

ATV ¥

Question Number : 49 Question Id : 71087010395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements best describe value education?

A. It is a course in moral science

B. It talks about rewards and punishments for one's own actions

C. Students observe and imitate adult behaviours, particularly that of their parents
D. Students investigate and explore their own inner self

E. It encourages students to fix their place in their life

Choose the correct answer from the options given below:

1. A, B and C only
2. B, C and D only
3.C, D and E only
4. A DandE only
Options :
71087041473. 1
71087041474. 2
71087041475. 3
71087041476. 4

Question Number : 49 Question Id : 71087010395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad 3 ¥ &H 91 oY gauRd RIa & aiaH oore &dl 6 ?

A. T8 Al IE § U Uieg@H Bl

8. Ug fordlt aafag & ol sfa:faameit &q fard ok <5 &t ad sear 2l

c. faemdf fagae 3o \rar-fdr & Sfadied &d § 3R 3= 4 Uig oideR diEd &
D. el Sg gl SiaR SfieTl 1 39yl 3R @isl Bd 6|

E. I fGentdal of 3o sfiae # S1g=1 = % o & o8 Uidiied ol &

i feu e famedl § ¥ Haiite 3ugdd SR o 9g ®x ;

1. HaAA, B3R C
2. ®adaB, C3RD
3. ®aAC, DARE
4. HaAA DIARE
Options :
71087041473. 1
71087041474. 2
71087041475. 3
71087041476. 4

Question Number : 50 Question Id : 71087010396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

ICT Initiatives of Ministry of Human|Their benefits for students and researchers
Resource Development

_ I. To get hands-on experience in embedded
A SWAYAM
system

Il. To get free books and curriculum-based e-
B. SWAYAMPRABHA
content

C. 8-PG Pathshala Il To watch high-quality educational
programmes 24x7

D. e-Yantra IVV. To earn credits through online courses

Choose the correct answer from the options given below:

TA-NLB-IW,C-1,D-II
ZA-IV,B-LC-1LD-1
JA-ILB-LC-IV,D-II
4 A-1L,B-ILC-IILD-WV
Options :

71087041477. 1
71087041478. 2
71087041479. 3
71087041480. 4

Question Number : 50 Question Id : 71087010396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdi-| H§ 714 4. Farey @1 Agdic! dgal @l 3o ol Jai-1l H faenfar ofR it & o

RGN RIS

gal-| gl-1l

A g |. TR0 Ul § S4agiid SN W B0
s %%ﬁmﬁ&nmﬁﬁqﬁgﬁ?ﬁaﬁqu
cx -ui. <. I11. 3= T[0ral Haiell AeffUrh SRIHH] DI 24 x 7
BIERI (REall

D.3- 4 V. H[AETe BIY & ol Hise U Sl

A feu e fdmedl § © Ogl 3o &1 999 @

TA-NLB-W,C-1,D-1
ZA-W,B-1,C-1Il,D-1
JA-ILB-1LC-1V,D-1l
4 A-1,B-ILC-1I,D-1V
Options :

71087041477. 1
71087041478. 2
71087041479. 3
71087041480. 4

PART II Tourism Administration and Management

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

710870248
2

Online
Mandatory
92

92



Section Marks : 200

Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870288
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087010397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In testing hypothesis, Type | error is committed when we

1. Reject Hy when it is true
2. Reject Hywhen it is false
3. Accept Hp when it is false
4. Accept Hp when it is true
Options :

71087041481. 1
71087041482. 2
71087041483. 3
71087041484. 4

Question Number : 51 Question Id : 71087010397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
UReheg-1 URIE01 H 2159 - | 3¢ 79 gidi 8, o9 84 ;

1. HEHR Ho (T ), 9« T8 el &l
2. SEGIPR Hy (T [H), 916 d¢ 7Tad ol
3. WIPHR Hy (T ), 919 Te 7T0d ol
4. PR Hy (TF ), 5« T8 Te1 81



Options :

71087041481. 1
71087041482 2
71087041483. 3
71087041484. 4

Question Number : 52 Question Id : 71087010398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT a U.S. based rental car company?

1. Budget

2. Alamo

3. National

4, A27
Options :
71087041485. 1
71087041486. 2
71087041487. 3
71087041488. 4

Question Number : 52 Question Id : 71087010398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fofafad 4 9 &1 WM& uRd ot . R ¢4 9/l $U41 Tei 6 7

1. 99

2. Il

3. 9T
4TS
Options :
71087041485. 1




71087041486. 2
71087041487. 3
71087041488. 4

Question Number : 53 Question Id : 71087010399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The most successful design of the aircraft, that was yielding profits by company passengers
between the 1920s and 1930s, is:

1. Douglas DC-3
2. Ab MZero 3
3.F-15

4.1- 22 Orao
Options :
71087041489. 1
71087041490. 2
71087041491. 3
71087041492. 4

Question Number : 53 Question Id : 71087010399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1920 & GXI® | 1930 & GXIH & HL TIHA! & URae ¥ a1+ fold & drc a8 &1 gaifud
Ohad iiFd e

1. SICH S 4f - 3
2. U6 TH R 3
3.0% - 15

4. 5-22 RT3
Options :
71087041489. 1



71087041490. 2
71087041491. 3
71087041492. 4

Question Number : 54 Question Id : 71087010400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which is the oldest air carrier in Europe founded in 1919 to transport two English passengers
from London to Schiphol in 19707

1. Lufthansa

2. KLM

3. Air France

4. British Airways
Options :
71087041493. 1
71087041494. 2
71087041495. 3
71087041496. 4

Question Number : 54 Question Id : 71087010400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
RIY H 1919 # 10T 95 994 WA $H Ut G0 died &yl § forgd &l oite aidl &f 1970 §
i ¢ Rydie o S T ol ?

1. O

2P TATH

3. TR Y

4, Tgfesr voRaw
Options :
71087041493. 1



71087041494. 2
71087041495. 3
71087041496. 4

Question Number : 55 Question Id : 71087010401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In 1842, a P&O passenger ship undertook its inaugural trip stimulated by the company's
contract to carry mail from Southampton to Calcutta. Select the correct name of the passenger
ship

1. Royal

2. Hindustan
3. Carnival

4, Qriental
Options :
71087041497. 1
71087041498. 2
71087041499. 3
71087041500. 4

Question Number : 55 Question Id : 71087010401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1842 H Ua Ul U3 off gl Sodld A, Irodaes I daddl 31 o o & hu-l & ey I URkd
B R HUHI UYH 1 D1 | 39 giE] Sadid &l el 418 g

L

1. 3499
2. fegeH
3. @I-ard
4, AREEqa

Options :




71087041497. 1
71087041498. 2
71087041499. 3
71087041500. 4

Question Number : 56 Question Id : 71087010402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is correct?

1. To apply the sign test each pair of scores should be independent of all other pairs
2. The Kruskal-Wallis H-test is score dependent statistic

3. Z-score criteria is applicable to skewed deviation

4. p-value equal to 0.01 implies that the power of the test used is 99%

Options :

71087041501. 1

71087041502. 2

71087041503. 3

71087041504. 4

Question Number : 56 Question Id : 71087010402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ffafed o 9 wel oyd 9 .

1. Yo GLIEI0 ] & & ol TR (W) & U dle &l adt 9 \isf I wdd g1 g
2. PO dlfery Td-c¥ Wkiid H1HIRG Giead! gl

3. WS-%hR w4l fauH fage IR ar el o

4.0.01 & SR Ui-dcg &1 Y g T URian o Wit 99% Ugad &5 o

Options :

71087041501 1

71087041502. 2




71087041503. 3
71087041504. 4

Question Number : 57 Question Id : 71087010403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a Chinese hospital, all the coronavirus suspected patients are arranged chronologically
according to their heights (from lower to higher), and then every 4" patient is taken for tests.
This type of sampling is called

1. Simple random sampling

2. Stratified random sampling
3. Systematic random sampling
4. Cluster random sampling
Options :

71087041505. 1

71087041506. 2

71087041507. 3

71087041508. 4

Question Number : 57 Question Id : 71087010403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ud o i § &R AERRY & 91 e diaR] of 39o] Ty & S9R (@Y 4 6l &
B H) 1@ 71 3R T U@ ol 919K @ 9ig & [ag Yol 7471 39 dis & Uidgad & 3 ded
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2. W gref=se® Uft=g-
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Options :

71087041505. 1
71087041506. 2
71087041507. 3
71087041508. 4

Question Number : 58 Question Id : 71087010404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A train travels first 400 km at an average speed of 40 km per hour and further travels the same
distance at an average speed of 50 Km per hour. The average speed over the whole distance is

1. 45 kms per hour

2. 44.44 kms per hour
3. 43 kms per hour

4. 42.42 kms per hour
Options :
71087041509. 1
71087041510. 2
71087041511. 3
71087041512. 4

Question Number : 58 Question Id : 71087010404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T ¢ 400 o531, B 0T LHaTdl gl 40 T #1/ufd ¢ @1 g TR Y g i & IR dG D
400 f& 1. 50 foo 11 /ufd O¢ 1 IFR U 0 Sl 8, 9 $a ad gl H 3! H8d IHRAT
[GIEIEGE

1. 45 T HI/uld gel

2. 44 44 T Bt Mid del
3. 43 T Hi./ufd ge1

4. 42.42 T Hi /uld ger
Options :
71087041509. 1
71087041510. 2
71087041511 3
71087041512. 4

Question Number : 59 Question Id : 71087010405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Application of the 't' test is subject to the following assumptions, except :

1. Sampling distribution of g, — %, is normally distributed

2. Each score of the dependent variable occurs at random

3. Samples are taken from the population having an identical variance
4. Measurements are in terms of the ordinal scale

Options :

71087041513. 1

71087041514. 2

71087041515. 3

71087041516. 4

Question Number : 59 Question Id : 71087010405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. Y% YO0 arel sae § uidasl &1 994 foar 9l g
4, TG HHYID 7 & UGl H 5

Options :

71087041513. 1

71087041514. 2

71087041515. 3

71087041516. 4

Question Number : 60 Question Id : 71087010406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a source of manager's power?

1. Reward

2. Coercive

3. Efferent

4. Legal
Options :
71087041517. 1
71087041518. 2
71087041519. 3
71087041520. 4

Question Number : 60 Question Id : 71087010406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087041517. 1
71087041518. 2
71087041519. 3
71087041520. 4

Question Number : 61 Question Id : 71087010407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct?

1. Revenue Centres — Expense Centres — Profit Centres— Investment Centres
2. Revenue Centres — Investment Centres — Expense Centres — Profit Centres
3. Investment Centres — Revenue Centres — Expense Centres — Profit Centres
4. Profit Centres — Investment Centres — Revenue Centres — Expense Centres
Options :

71087041521. 1

71087041522. 2

71087041523. 3

71087041524. 4

Question Number : 61 Question Id : 71087010407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AoIG Bs; --> oY gt --> TIH Dgs --> Hd gt
2. g &5 --> A &g --> T g --> TIH D&
3. e o > A B --> TG TG --> Y IR
4, TH &5 --> FA g --> old g --> O Tg
Options :

71087041521. 1

71087041522. 2

71087041523.3

71087041524. 4

Question Number : 62 Question Id : 71087010408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is true about zero-based budgeting?

1. Relies on data of previous budgets
2. Proceeds from resources to targets
3. Proceeds from targets to resources
4. Not a priority based budgeting
Options :

71087041525. 1

71087041526. 2

71087041527. 3

71087041528. 4

Question Number : 62 Question Id : 71087010408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041525. 1

71087041526. 2

71087041527. 3

71087041528 4

Question Number : 63 Question Id : 71087010409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Trait theories of leadership focus on:

1. Personal values

2. Personal qualities and characteristics
3. Social Norms

4. Hygiene factors

Options :

71087041529. 1

71087041530. 2

71087041531. 3

71087041532. 4

Question Number : 63 Question Id : 71087010409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041529. 1

71087041530. 2

71087041531. 3
71087041532. 4

Question Number : 64 Question Id : 71087010410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

As proposed by Burn, PC (1996), the two poles of the tourism planning continuum are
represented by

1. Tourism First and Development First

2. Planning First and Environment First

3. Development First and Environment First
4. Community First and Tourism First
Options :

71087041533. 1

71087041534.2

71087041535. 3

71087041536. 4

Question Number : 64 Question Id : 71087010410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Qe UuH g [do™ uyH
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Options :

71087041533, 1

71087041534. 2

71087041535. 3

71087041536. 4

Question Number : 65 Question Id : 71087010411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT an influencing factor for service encounters?

1. Ambience

2. Service delivery rules

3. Expectations management
4. Length of encounter
Options :

71087041537. 1

71087041538. 2

71087041539. 3

71087041540. 4

Question Number : 65 Question Id : 71087010411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. U TeeH
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Options :

71087041537. 1
71087041538. 2
71087041539. 3
71087041540 4

Question Number : 66 Question Id : 71087010412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The "Caring for the Earth: A Strategy for Sustainability” by IUCN, 1991 lists nine principles, for
sustainable development which includes one of following :

1. Enable visit to ensure better relationship between host and guest

2. Enable communities to care for their own environments

3. Empower community participation in tourism business enterprise

4. Empower self-help groups to promote the development-friendly tourism
Options :

71087041541. 1

71087041542. 2

71087041543. 3

71087041544. 4

Question Number : 66 Question Id : 71087010412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041541. 1

71087041542. 2

71087041543. 3

71087041544, 4

Question Number : 67 Question Id : 71087010413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concept of 'Corporate Social Responsibility’ was first coined in the book called :

1. The Wealth of Nations
2. The Gospel of Wealth
3. In Search of Excellence
4. Business and Society
Options :

71087041545. 1
71087041546. 2
71087041547. 3
71087041548. 4

Question Number : 67 Question Id : 71087010413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041545. 1
71087041546. 2
71087041547. 3
71087041548. 4

Question Number : 68 Question Id : 71087010414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Sustainable Tourism - Elimination of Poverty Framework is directly linked to :

1. Business Council on Sustainable Development and the United Nations Framework on
Climate Change

2. United Nations Environmental Programme and Business Action for Sustainable
Development

3. United Nations Millenium Development Goals and United Nations World Tourism
Organizations Global Code of Ethics

4. United Nations Educational, Scientific and Cultural Organization and Tourism Investigation
and Monitoring Team

Options :

71087041549. 1

71087041550. 2

71087041551. 3

71087041552. 4

Question Number : 68 Question Id : 71087010414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

71087041549. 1

71087041550. 2

71087041551.3

71087041552 4

Question Number : 69 Question Id : 71087010415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A tourism organization has to monitor key macroenvironmental and microenvironment forces
that affect its ability to earn profits. Which one of the following is NOT a microenvironment
force?

1. Customers

2. Competitors
3. Technological
4. Distribution
Options :
71087041553 1
71087041554. 2
71087041555.3
71087041556. 4

Question Number : 69 Question Id : 71087010415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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JYD! T HHMH DI &HG DI UHIEd Bd & | FEfaRad § U H Y& Tiavig SR ol ¢ ?
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Options :

71087041553. 1
71087041554. 2
71087041555. 3
71087041556. 4

Question Number : 70 Question Id : 71087010416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is a determinant of service encounters?

1. Zone-of-tolerance

2. Customers knowledge
3. Service resources

4. Service design
Options :

71087041557 1
71087041558. 2
71087041559. 3
71087041560. 4

Question Number : 70 Question Id : 71087010416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. T &I &7

2. UIedh &l THDBR]
3. 41 ggreH
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Options :
71087041557. 1
71087041558. 2
71087041559. 3
71087041560. 4

Question Number : 71 Question Id : 71087010417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Facilitating products are the services or goods that must be present for guest to use as the

1. Core product

2. Supporting product
3. Augmented product
4. Competitor's product
Options :

71087041561. 1
71087041562. 2
71087041563. 3
71087041564. 4

Question Number : 71 Question Id : 71087010417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087041561. 1
71087041562. 2
71087041563. 3
71087041564. 4

Question Number : 72 Question Id : 71087010418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is NOT the technique that assists in managing short term demand
in the hospitality and travel industry?

1. Involve the customer in the service delivery
2. Cross-train employees

3. Use part-time employees

4. Maintain the service-delivery system
Options :

71087041565. 1

71087041566. 2

71087041567 3

71087041568. 4

Question Number : 72 Question Id : 71087010418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041565. 1

71087041566. 2

71087041567. 3

71087041568. 4

Question Number : 73 Question Id : 71087010419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Customer value is the difference between the benefits that the customer gains from owning
and/or using the product and the costs of obtaining the product. Costs can be both monetary
and non-monetary. One of the biggest non-monetary for hospitality customers is

1. Cost of acquisition of customer
2. Travel cost

3. Fixed cost

4. Cost of time

Options :

71087041569. 1

71087041570. 2

71087041571. 3

71087041572. 4

Question Number : 73 Question Id : 71087010419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

71087041569. 1
71087041570. 2
71087041571. 3
71087041572. 4

Question Number : 74 Question Id : 71087010420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following represents a differentiating factor in service positioning whereby
the designed services cannot be easily copied by the competitors?

1. Distinctiveness
2. Superiority

3. Affordability
4. Profitability
Options :
71087041573 1
71087041574. 2
71087041575. 3
71087041576. 4

Question Number : 74 Question Id : 71087010420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :
71087041573. 1
71087041574. 2
71087041575. 3
71087041576. 4

Question Number : 75 Question Id : 71087010421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
As per Foreign Exchange Management (Current Account Transactions) Rules, 2000, an Indian
individual is permitted to spend a maximum of :

1. USD 20,000 or it's equivalent in one financial year for one or more private visits to any
country

2. USD 10,000 or it's equivalent in one financial year, for one or more private visits to any
country (except Nepal and Bhutan)

3. USD 5,000 or it's equivalent in one financial year for one or more private visits to any
country (except Nepal, Bhutan and Pakistan )

4. USD 30,000 or it's equivalent in one financial year for one or more private visits to any
country (except Nepal)

Options :

71087041577. 1



71087041578. 2
71087041579. 3
71087041580. 4

Question Number : 75 Question Id : 71087010421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041577. 1

71087041578. 2

71087041579. 3

71087041580. 4

Question Number : 76 Question Id : 71087010422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sabre, the GDS has now moved from being simply an airline’s computer reservation system to
offer ‘e’ services like airlines, hotels, tour operation and hire cars through its online travel
agency known as:

1. One Travel.com
2. Travelocity

3. Kayak

4. Mobissino
Options :
71087041581. 1
71087041582. 2
71087041583. 3
71087041584. 4

Question Number : 76 Question Id : 71087010422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4, ST
Options :
71087041581. 1
71087041582. 2
71087041583. 3
71087041584. 4

Question Number : 77 Question Id : 71087010423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which one of the following types of tours to Corsica in 1950 was first operated by Viadimir
Raitz, a Russian emigré :

1. All-inclusive Cruise Tour

2. All customized Group Tour
3. Air-inclusive Tour Charter
4. All Group Inclusive Tour
Options :

71087041585. 1

71087041586. 2

71087041587. 3

71087041588. 4

Question Number : 77 Question Id : 71087010423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ufanterd fooar o1 7
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Options :

71087041585. 1
71087041586. 2
71087041587. 3
71087041588. 4

Question Number : 78 Question Id : 71087010424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a travel search engine or meta-search engine?

1. Sidestep

2. Tiscover

3. Holiday Chec
4. Wotif.com
Options :
71087041589. 1
71087041590. 2
71087041591. 3
71087041592. 4

Question Number : 78 Question Id : 71087010424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frafefed & ¥ SF 91 Uo 961 (299) 99 Sfor 41 921 9 SfoM © 7
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Options :

71087041589. 1

71087041590. 2

71087041591. 3

71087041592. 4

Question Number : 79 Question Id : 71087010425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following online travel companies was launched in October 1998 by Brent
Haberman and Martha Lane Fox?

1. lastminute.com
2. Travelocity

3. Cultuzz

4, A27

Options :
71087041593. 1
71087041594. 2
71087041595. 3
71087041596. 4

Question Number : 79 Question Id : 71087010425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiad o 4 g JHare O (2a0) BU-1 B 8¢ slava- IR 97yl o HIad - agar 1998
T 3Ry fear o ?

1. TR
2. Saaifyd

3. @

4. 0TS
Options :
71087041593. 1
71087041594. 2
71087041595. 3
71087041596. 4

Question Number : 80 Question Id : 71087010426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Till January 2020, the Indian origin, M.D and CEO of IHCL South Asia’s largest hospitality
focussed company was

1. Mr Ratan Tata

2. Mr Puneet Chhatwal
3. Ms Deepika Rao

4. Mr Vaibhav Aggarwal
Options :

71087041597. 1
71087041598. 2
71087041599. 3
71087041600. 4

Question Number : 80 Question Id : 71087010426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087041597. 1
71087041598. 2
71087041599. 3
71087041600. 4

Question Number : 81 Question Id : 71087010427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which relationship process integrates service value chain with service profit chain?

1. Customer recovery

2. Customer loyalty

3. Customer defection
4. Customer expectation
Options :

71087041601. 1
71087041602. 2
71087041603. 3
71087041604. 4

Question Number : 81 Question Id : 71087010427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fgfafaa o O 14 0t Iy ufesar Yd1 g 93ga &I 41 oY 4G & Uy JHISied Bl 6 ?
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2. T8 1ET

3. e U I
4. TTg SUETY
Options :
71087041601. 1
71087041602. 2
71087041603. 3
71087041604. 4

Question Number : 82 Question Id : 71087010428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In order to showcase and project the Buddhist Heritage in India, in Aug 2018, the Ministry of
Tourism, Government of India organized the International Buddhist Conclave (IBC) on
the theme:

1. Buddha Path - The Living Heritage

2. Buddha - The Way of Life

3. Buddha Gyan - In Context of Modern India
4. India - The land of Buddha

Options :

71087041605. 1

71087041606. 2

71087041607. 3

71087041608. 4

Question Number : 82 Question Id : 71087010428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041605. 1

71087041606. 2

71087041607. 3

71087041608. 4

Question Number : 83 Question Id : 71087010429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Government of India has exempted which one of the following when arriving with an e-visa,
from the requirement of biometric enrolment?

1. Air Tourists

2. Rail Tourists

3. Cruise Tourists

4. Luxury Bus Tourists
Options :
71087041609. 1
71087041610. 2
71087041611. 3
71087041612. 4

Question Number : 83 Question Id : 71087010429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. §4T5 G4cd

2. 3d gde®d

3. g4l yded

4, TFN] 9 Uhe®
Options :
71087041609. 1
71087041610. 2
71087041611 3
71087041612. 4

Question Number : 84 Question Id : 71087010430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The revised 'Indian Adventure Tourism Guidelines' on Adventure Tourism launched on 315 May
2018 cover the norms on Adventure Tourism pertaining to :

1. Safety and Quality

2. Safety and Security

3. Financial Support

4. Arrangement of Adventure Tourism activities overseas for Tourism Promotion
Options :

71087041613. 1

71087041614. 2

71087041615. 3

71087041616. 4

Question Number : 84 Question Id : 71087010430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Wrelie Ghed & Uy H 31 Ay 2018 Bl ART AR R Wrefid qde o= ez o
Fefafed 9 ¥ Sus 49y J 9efis uded & AHe a8 .

1. YW1 G Uial

2. U 9 4{IRd

3. Toita w9

4. Y Ha¥q & foe facwt o wefie qde nfafafeal o1 ooawr
Options :

71087041613. 1

71087041614. 2

71087041615. 3

71087041616. 4

Question Number : 85 Question Id : 71087010431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is known as India’s First World Heritage city?

1. Jaipur
2. Ahmedabad
3. Hampi
4. Mandu
Options :
71087041617. 1
71087041618. 2
71087041619. 3
71087041620. 4

Question Number : 85 Question Id : 71087010431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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R
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Options :
71087041617. 1
71087041618. 2
71087041619. 3
71087041620. 4

Question Number : 86 Question Id : 71087010432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Surviving gigantic gate and other remains of Sarai Nur Mahal containing 124 chambers, was
constructed by Emperor Jahangir's wife Nur Jahan. It was situated on the highway between

1. Agra and Ajmer

2. Kashmir and Agra

3. Agra and Surat

4. Delhi and Burhanpur
Options :

71087041621. 1
71087041622. 2
71087041623. 3
71087041624. 4

Question Number : 86 Question Id : 71087010432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
UG TR Hed & g4l g [a=ITel ear AR 34 a2l 1 124 wiaidl Of o dgae Jeiifik
1 Gl R 95l - §-1a1 4T | I8 ©f Rl & sid & [ g °97 0 R g

1. 3{FRT 3R TR
2. HRHR 3R R
3. AR R Q@d

4, feeet R MR
Options :
71087041621. 1
71087041622. 2
71087041623. 3
71087041624. 4

Question Number : 87 Question Id : 71087010433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



We must welcome visitors from abroad for economic reasons, for tourism brings foreign
exchange, but even more so because this leads to a greater understanding of mutual
appreciation. There is nothing that the world needs today more than mutual understanding,”

Wheo said this?

1. Bhimrac Ambedkar

2. Mahatma Gandhi

3. Jawaharlal Nehru

4. Rabindra Nath Tagore
Options :

71087041625. 1
71087041626. 2
71087041627. 3
71087041628. 4

Question Number : 87 Question Id : 71087010433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087041625. 1
71087041626. 2




71087041627. 3
71087041628. 4

Question Number : 88 Question Id : 71087010434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the Union Budget of 2020 how many crores of rupees have been allocated for the Ministry
of Tourism?

1. 2,400
2. 3,400
3. 3,500
4. 2,500
Options :
71087041629. 1
71087041630. 2
71087041631. 3
71087041632. 4

Question Number : 88 Question Id : 71087010434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2020 & H&1g guie H e S0y & ol faodH dis 3Y JHidfed e U 8 7

1. 2,400
2. 3,400
3. 3,500
4, 2,500
Options :
71087041629. 1
71087041630. 2
71087041631. 3



71087041632. 4

Question Number : 89 Question Id : 71087010435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jahangiri Mandir is situated at which one of the following tourist sites?

1. Pushkar

2. Mathura

3. Vrindavan
4, Orchha
Options :
71087041633. 1
71087041634. 2
71087041635. 3
71087041636. 4

Question Number : 89 Question Id : 71087010435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4, 3R
Options :
71087041633. 1
71087041634. 2
71087041635. 3
71087041636. 4



Question Number : 90 Question Id : 71087010436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which category of tourism should Chinese travelo-tourist Hieun Tsing be placed?

1. Theclogy and culture
2. Commercial

3. Excursionist

4, Leisure

Options :

71087041637. 1
71087041638. 2
71087041639. 3
71087041640. 4

Question Number : 90 Question Id : 71087010436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087041637. 1
71087041638. 2
71087041639. 3
71087041640. 4

Question Number : 91 Question Id : 71087010437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Which of the following tourist sites are located in Kargil?
A. Zanskar Valley

B. Valley of Flowers, National Park

C. Mulbekh Monastery

D. Rumtek Monastery

Choose the correct answer from the options given below

1. A and C only
2.Aand D only
3. B, Cand D only
4. B and D only
Options :
71087041641. 1
71087041642. 2
71087041643. 3
71087041644. 4

Question Number : 91 Question Id : 71087010437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



BT H HERigd # 9 ©H 9 Ued ®d aiyd 6 ?
A. SRR IEl

B. PTG I 3 9Tl

C. §aed 98

D. ¥HC® HE

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. Had A AR C

2. PAAA IR D
3. PaA B, C3HRD
4, H3AB A’ D
Options :
71087041641. 1
71087041642, 2
71087041643. 3
71087041644, 4

Question Number : 92 Question Id : 71087010438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



All of the following are true about Non-parametric tests, except

A. Non - parametric tests are otherwise known as distribution-free tests

B. In non-parametric tests, the dependent variable has a normal distribution

C. When f, and f. completely coincide, the value of y2is + 1.0

D. The calculated value of y2is always positive

E. Each pair of scores should be independent of all other pairs for applying the sign test
Choose the most appropriate answer from the options given below

1. A and B only
2. A and D only
3. B and C only
4. D and E only
Options :
71087041645. 1
71087041646. 2
71087041647. 3
71087041648. 4

Question Number : 92 Question Id : 71087010438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. H3d A 3R B
2. PAAA R D
3. PaaB AR C
4, HIAD 3RE
Options :
71087041645. 1
71087041646, 2
71087041647. 3
71087041648, 4

Question Number : 93 Question Id : 71087010439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are incorrect?

A. Pushkar Lake is famous for trekking sport

B. Chadar Frozen River, known for trekking sport is situated in Sikkim

C. Hampta Pass known for trekking sport is situated in Himachal Pradesh
D. Chopta Chandrashila is one of the trekking destinations of Uttarakhand
Choose the correct answer from the options given below

1. C and D Only
2. A, B and C only
3. A and D only

4. B, C and D only
Options :
71087041649. 1
71087041650. 2
71087041651. 3
71087041652 4

Question Number : 93 Question Id : 71087010439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu 7w fgoeul # ¥ U5l 3w gHU:

1.®3daC, D
2. PAUA, B, C
3. PaAA, D
4, HddAB, C, D
Options :
71087041649. 1
71087041650. 2
71087041651. 3
71087041652, 4

Question Number : 94 Question Id : 71087010440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding the normal curve are true?
A. Both limbs of the curve touch the baseline

B. The curve is bilaterally symmetrical

C. There is skew to the right

D. There is skew to the left

E. Mean, Median and Mode coincide

Choose the correct answer from the options given below

1. A and B only
2. B and E only
3. Cand D only
4. D and E only
Options :
71087041653. 1
71087041654. 2
71087041655. 3
71087041656. 4

Question Number : 94 Question Id : 71087010440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. H3d A 3R B
2. Paa B ARE
3. PaA C IR D
4, H3AD 3ARE
Options :
71087041653. 1
71087041654. 2
71087041655. 3
71087041656. 4

Question Number : 95 Question Id : 71087010441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?

A. Variation of the sample mean from population mean is the standard error of the difference
between the means

B. Standard deviation of means measures sampling errors
C. In a positively skewed deviation, Mode < Median < Mean
D. Increase in sample size decreases the power of a test

E. Cronbach Alpha is a measure of reliability test

Choose the correct answer from the options given below

1. A, B, and C only
2. B, C and D only
3. A, B, and D only
4. B, C and E only
Options :
71087041657. 1
71087041658. 2
71087041659. 3
71087041660. 4

Question Number : 95 Question Id : 71087010441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B3 A, B, C
2. PaAB, C, D
3. PAdA, B, D
4, $ddB, C E
Options :

71087041657. 1
71087041658. 2
71087041659. 3
71087041660. 4

Question Number : 96 Question Id : 71087010442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following roles are the managerial roles as suggested by Mintzberg?
A. Informational

B. Social

C. Interpersonal

D. Behavioural

E. Decisional

Choose the correct answer from the options given below

1. B, D and A only
2. A, C, and E only
3.C, D and E only
4. A, Cand D only
Options :
71087041661. 1
71087041662. 2
71087041663. 3
71087041664. 4

Question Number : 96 Question Id : 71087010442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3d A B3R D
2. Pad A, C AR E
3. PaqaC, D 3MRE
4 B3I A, C3RD
Options :
71087041661. 1
71087041662 2
71087041663. 3
71087041664, 4

Question Number : 97 Question Id : 71087010443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following brands are associated with ‘Lemon Tree' Hotels, India’s largest chain in
the mid-priced hotel sector?

A. Aurika

B. Royal

C. Red Fox

D. Fab Hotels

E. Keys

Choose the correct answer from the options given below

1.C, D, and B only
2. A, Cand E only
3. B, C and E only
4. A and C only
Options :
71087041665. 1
71087041666. 2
71087041667. 3
71087041668. 4

Question Number : 97 Question Id : 71087010443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3a B, C AR D
2. Paa A, C AR E
3. PaA B, C 3R E
4 HIAA AR C
Options :
71087041665. 1
71087041666. 2
71087041667. 3
71087041668, 4

Question Number : 98 Question Id : 71087010444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are exogenous determinants of tourism demand?
A. Recession

B. Levels of development

C. Degree of urbanization

D. Physical capacity

E. Physical distance

Choose the correct answer from the options given below

1. B, C and D only
2. A, Cand D only
3. A, Band C only
4. C, D and E only
Options :
71087041669. 1
71087041670. 2
71087041671. 3
71087041672. 4

Question Number : 98 Question Id : 71087010444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ®3a B, C AR D
2. Pad A, C AR D
3. PadA, B3R C
4. H3aC, DIARE
Options :
71087041669. 1
71087041670. 2
71087041671. 3
71087041672. 4

Question Number : 99 Question Id : 71087010445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following factors affect price sensitivity?

A. Unigue value effect

B. Customer perception effect

C. Substitute awareness effect

D. Competitor awareness effect

E. Business expenditure effect

Choose the correct answer from the options given below

1. A, B and C only
2. B, C and D only
3. A, Cand E only
4. B, D and E only
Options :
71087041673. 1
71087041674. 2
71087041675. 3
71087041676. 4

Question Number : 99 Question Id : 71087010445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu 7w fgoeul # ¥ U5l 3w gHU:

1. B3 A, B, C
2. PaAB, C, D
3. PadA, G E
4, $3daB, D, E
Options :

71087041673. 1
71087041674 2
71087041675. 3
71087041676. 4

Question Number : 100 Question Id : 71087010446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Thomas Cook has had a number of membership changes including mergers and acquisitions.
Which of the following are correct about Thomas Cook ‘s Membership changes?

A. Thomas Coock became a subsidiary of UK's Midland Bank Group

B. Thomas Cook was sold to four different German owners

C. Thomas Cook was merged with the UK based My Travel with the privilege of being listed
on London Stock Exchange

D. Thomas Cook was merged with Carlson Leisure group's UK travel Interests
E. Thomas Cook has merged with Travel World Vacations
Choose the most appropriate answer from the options given below

1. A, B, Cand E only
2. A, B, Cand D only
3.A,C DandEonly
4. E D, Aand Conly
Options :
71087041677. 1
71087041678. 2
71087041679. 3
71087041680. 4

Question Number : 100 Question Id : 71087010446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B3 A, B, C3IRE
2. Pad A, B, CHR D
3. PAUA C DIARE
4, HIAE D, AR C
Options :
71087041677. 1
71087041678. 2
71087041679. 3
71087041680. 4

Question Number : 101 Question Id : 71087010447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ministry of Tourism, Government of India under Swadesh Darshan Scheme, till March 2019
had identified fifteen thematic circuits. These include:

A. North-East India Circuit

B. Dravidian Circuit

C. Buddhist Circuit

D. South West Circuit

E. Ramayana Circuit

Choose the correct answer from the options given below

1. A, C and E only
2. A, B and D only
3. B, D and E only
4. A, Cand D only
Options :
71087041681. 1
71087041682. 2
71087041683. 3
71087041684. 4

Question Number : 101 Question Id : 71087010447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



QoA H5A10d, HRd SROR H WG G20 ol & Sidiid A9 2019 d® Uge (999 urid gfeayf
& UggH @ 8| 399 MYftf@d § Y@ -& - affd g 2

A. IR Jd HRd 9RUY

B. Bids URUYy

C. sl URTy

D. GfaT ufgH uRay

E. Y@ OROY
Fafeiad fgeeal § 9 981 3w gHU

1. BaA A, C 3R E
2. Pad A, B3R D
3. $aaB, D3R E
4 B3I A, C3RD
Options :
71087041681. 1
71087041682. 2
71087041683. 3
71087041684, 4

Question Number : 102 Question Id : 71087010448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is the classification of Hotels by the Ministry of Tourism, Government of
India?

A. Four Star with or without Alcohol

B. Five Star with or without Alcohol

C.Five Star Deluxe without Alcohol

D. Heritage (Grand)

E. Legacy Vintage (Basic)

Choose the correct answer from the options given below

1. A, B, Cand E only
2. A, B, Cand D only
3.B, C, D and E only
4 A B, DandE only
Options :
71087041685. 1
71087041686. 2
71087041687. 3
71087041688. 4

Question Number : 102 Question Id : 71087010448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafafed & 4 gical & Ha-fow arffozo ®f wded 5307, YRd WROR &R fHal T3 -
A. AfGT Figd 3ryar Igd IR Far

B. AIGY |igd #ryar g d uig [drT

C. AfeRT gigd uid farT Sioe

D. eRew (#3)

E. TR faew @)

fFroffea el & 3 udl sw gfu:

1. B3 A, B, C3IRE
2. Pad A, B, CHR D
3. PauB, C D3RE
4, H3dA, B, D3R E
Options :
71087041685. 1
71087041686 2
71087041687. 3
71087041688, 4

Question Number : 103 Question Id : 71087010449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are associated with ITC Welcomgroup of Hotels?
A. Baluchi

B. Dum Pukht

C. Omya

D. Royal Vega

E. Varg

Choose the correct answer from the options given below

1. C and D only
2. A and C only
3. B and D only
4. B and E only
Options :
71087041689. 1
71087041690. 2
71087041691. 3
71087041692. 4

Question Number : 103 Question Id : 71087010449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeied # 4 oF-0H Scl d0®H Y5g @ oledl Y Y9G & ?
A. Sl

B. GHY%d

C. St

D. IGa 3

E. d®

i feu ¢ famedl # 9 wel I g :

1. H3d C 3R D
2. Pad A 3R C
3. HaaAB AR D
4, H3AB AR E
Options :
71087041689. 1
71087041690. 2
71087041691. 3
71087041692, 4

Question Number : 104 Question Id : 71087010450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The State of Rajasthan has a rich cultural heritage. The food is really tempting and tourists
relish it. The popular dishes of Rajasthan Cusine include :

A. Khand ka Pinda

B. Pachadi

C. Ker Sangri

D. Poha

E. Bajre ki Raab

Choose the correct answer from the options given below

1. C and E only

2. A, Cand D only
3. A, Cand E only
4. C and D only
Options :
71087041693. 1
71087041694. 2
71087041695. 3
71087041696. 4

Question Number : 104 Question Id : 71087010450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IS B U WS Wplad (ORI & | F6] & Tor 3d gHIaH ¢ AR The® 39 TG oXd
B | AT & AU oHoi 6 ;

A. @i P T

B. Udal

C. B R

D. TigI

E. STol @I 316

i feu 7w fgoeul # ¥ U5l 3w gHU:

1. $3d C 3R E

2. Pad A, C AR D
3. PAAA, C AR E
4. HIAC3RD
Options :
71087041693. 1
71087041694 2
71087041695. 3
71087041696. 4

Question Number : 105 Question Id : 71087010451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following operational guidance signs at airports are correctly matched?
A Location Signs: Yellow on black background

B. Direction/Runway exit signs: Red on blue background

C. Operational signs: Red on black

D. Directional movement signs: White on black background

E. Direction/Runway exit signs: Black on yellow background

Choose the correct answer from the options given below

1. A and B only

2. A, B and C only
3. B and C only

4. A and E only
Options :
71087041697. 1
71087041698. 2
71087041699. 3
71087041700. 4

Question Number : 105 Question Id : 71087010451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR R FERET § € o vEed Mo Shd gEid § 7
A, RIH Tebd : BIcll gEYH W dia
B. fe=m / 3d ufdse dad : il ggyH W= ara

C. WA Habel ; I UR TG

D. f&=m Hdeh are ddvd : el IHH R Tha
E. fa=my 34 uidae ddbd : il ggyfE o dral
i feu ¢ famedl # 9 wel I g :

1. H3d A 3R B

2. Pad A, B3R C
3. PaaB AR C
4, BT A ARE
Options :
71087041697. 1
71087041698. 2
71087041699. 3
71087041700. 4

Question Number : 106 Question Id : 71087010452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following airport codes representing airports are located in Asia?
A DMK

B. FCO

C. MIA

L. NRT

Choose the correct answer from the options given below

1. A and B only
2. A and D only
3. B and C only
4. C and D only
Options :
71087041701. 1
71087041702. 2
71087041703. 3
71087041704. 4

Question Number : 106 Question Id : 71087010452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrafeiad H 9 o 9 vauld $is TR ey o UidHitd $d g 2
ABITHD

3. U T ]

C. U ART

D. T 3R

i feu ¢ famedl # 9 wel I g :

1. H3d A 3R B
2. PAAA R D
3. PaaB AR C
4, ®3a C AR D
Options :
71087041701. 1
71087041702. 2
71087041703. 3
71087041704, 4

Question Number : 107 Question Id : 71087010453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?

A. In 1980, tourism was declared as an Industry

B. UNESCO declared the year 2019 as an International Year of Indigenous Languages

C. 18" of April of every year is celebrated as an International Day for Monuments and Sites

D. Centre for Railway Information Systems (CRIS) as a society was set up by the Ministry of
Railways in 2014

Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and C only
3.C, D and A only
4. D, A and B only
Options :
71087041705. 1
71087041706. 2
71087041707. 3
71087041708. 4

Question Number : 107 Question Id : 71087010453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fodea g oy 9eie ?

A. Te ® 1980 H FEHT & Gol f6aT 7|

B. IiRep! 7 2019 I QRIS HTNTSHT &1 SfeRRIMTY Y "I febar uT|

C. ufaay 18 3T B RS Yol qUT Wdl & TP [Ga8 & T H F/1 F1dl 3

D. ¥Td TEA1 TUTe B (F1 3R 313 TH) S ¥a SA1ad gR1 2014 § Ud GraEd] & 0 § ®iifid
Tohar T

- feu v fasedl ¥ ¥ 9El S 9T

1.®Hdd B, C AR D
2. BAAA B AR C
3. ®aAC, D3R A
4. HFAD, A AR B

Options :

71087041705. 1
71087041706. 2
71087041707. 3
71087041708. 4

Question Number : 108 Question Id : 71087010454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The following studies on Smart Tourism were carried out and published by the researchers.
Which of the following statements are correct with regard to these studies

A. Crouch and Ritchie (1999) created the concept of destination competitiveness
B. The research was elaborated by Dwyer and Kim (2003)

C. Ensight and Newton (2004 and 2005) failed to verify the model empirically

D. Mazanec et al (2007) enriched the study

Choose the correct answer from the options given below

1. B and C only

2. A, B and D only
3. A, Cand D only
4. C and D only
Options :
71087041709. 1
71087041710. 2
71087041711. 3
71087041712. 4

Question Number : 108 Question Id : 71087010454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e e R Yddisi gRl FEfaRad sfene [y 70 3R USR5 W) 349 gl & 98y
R ERRE LI R R I R

A. T34 4 Rl (1999) A T-0ed ¥Yd UfaG @bl S TR BT o [dbd|
B. 39 XY & SaRR d fhd (2003) A fawara favar|
C. T913E 9 e 39 Hisd &l HHdH A= oA | [dda B |

D. HoH® 3R 3= (2007) 39 AT ®! G5z fad1|
Fafeied fa®eal 5 ¥ 981 3w 9L

1. ®3a B AR C

2. Pad A, B3R D
3. PadA, C AR D
4. HIAC3RD
Options :
71087041709. 1
71087041710. 2
71087041711. 3
71087041712. 4

Question Number : 109 Question Id : 71087010455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following, choose the correct statements:

A. Sarais were famous and popular for Indian hospitality

B. Sarais had separate arrangements for vegetarian and non-vegetarian travelo-tourists
C. Bhatyaran took care of the lodging and boarding of the travellers

D. Sarais were also paid hospitality institutions

Choose the correct answer from the options given below:

1. B and C only

2.C, D and A only

3. A and C only

4. A B, Cand D only
Options :
71087041713. 1
71087041714. 2
71087041715. 3
71087041716. 4

Question Number : 109 Question Id : 71087010455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafaa & 4 98l dy= 9 -

A, TG YR Sfaw & e uiig 3R dieiig 41

B. TR1G! H WY R FRIMAY 71301 & fR1T SferT- e ogaeyl gl 4]
C. HeORA TGl & HieH 3R SH1aT" ®1 & W@l 4|

D. TR YIdH gRT 1iaYd UGH ® arel =TT Hi 2|

i feu ¢ famedl # 9 wel I g :

1. ®3a B AR C

2. PaaC, D3R A
3. PaAA 3R C
4. A B C3RD
Options :
71087041713. 1
71087041714 2
71087041715. 3
71087041716. 4

Question Number : 110 Question Id : 71087010456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The following statements about the development of Global Distribution System (GDS) are
correct, except

A. Eastern Airlines established System One Direct Access (SODA) in 1981

B. Delta Airlines launched its DATAS Il in 1982

C. Japan Airlines formed Axess in 1989

D. Galileo and Apollo were merged to establish Galileo international in 1992
E. System One merged with Amadeus in 1995

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. D and E only
Options :
71087041717. 1
71087041718. 2
71087041719. 3
71087041720. 4

Question Number : 110 Question Id : 71087010456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tied Sy ey @ieiey) & f[dem & 4dy # Haftifad oyl § 3 foy-fog of sisar
ﬁTﬁﬂﬂ-ﬁ%:

A. 5% TORARY H 1981 H %H o9 Sae Uiy (TF 3 S uifud &t

B. Stcl TOIed H 1982 H 30+ 81 T A T TH || 3RY i

C. SO TOXasd - 1988 H Ua g &1 S0 3

D. 1992 # Tiffedl Sex-3Md s & o Tfeferdl SR Sare @1 [9ag &g T
E. 1995 H T&%cH 3+ @1 TAIGTY & 91y [9ag 81 741
Fafeiad fgeeal § 9 981 3w gHU

1. H3d A 3R B
2. PaaB AR C
3. PaA C IR D
4. H3AD IRE
Options :
71087041717. 1
71087041718. 2
71087041719. 3
71087041720, 4

Question Number : 111 Question Id : 71087010457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?

A. The headquarters of Indigo Airlines is located in Gurugram
B. The headquarters of Air India Express is located at Bangalore
C. The headquarters of Go Air Airlines is located at Mumbai

D. The headquarters of Air Asia India Airlines is located at Kochi
Choose the correct answer from the options given below

1. A and B only
2. B and C only
3. Cand D only
4. A and C only
Options :
71087041721. 1
71087041722. 2
71087041723. 3
71087041724. 4

Question Number : 111 Question Id : 71087010457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafefed H 8 o 4 YT 981 § 2

A SST TOREIS &1 HRA0Y U H HaRud Bl

B. UTR 3541 UaHUY &1 HEHT0™ sHIge 4§ Saleud g

C. 71l U4R UERaIe Y @ 0y Heg H 3afyd o

D. TR U1 31541 TRy &1 ey Sifel H afeyd |
i feu 7w fgoeul # ¥ U5l 3w gHU:

1. H3d A 3R B
2. PaaB AR C
3. PaA C IR D
4 HIAA AR C
Options :
71087041721. 1
71087041722, 2
71087041723. 3
71087041724, 4

Question Number : 112 Question Id : 71087010458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



34" Surajkund International Crafts Mela was inaugurated by Shri Ram Nath Kovind, President
of India. It is the largest craft fair in the world. The theme, state and partner nation for
the 34" Mela were

A Himachal Pradesh

B. Telangana

C. Maharastra

D. Uzbekistan

E. Afganistan

Choose the correct answer from the options given below:;

1. A and D only
2. B and D only
3. Cand E only
4. A and E only
Options :
71087041725. 1
71087041726. 2
71087041727. 3
71087041728. 4

Question Number : 112 Question Id : 71087010458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



34 91 QSIS SARAPY RIed el BT IguIe- HRd & APUld 41 IHT1Y Hifde 1 fbanl g8 g
&1 GaY S8 FRIed Ha1 81 34 d Hel & U & Tog 3R EER AP S U

A. feraa uewr
B. AT

- feu v fasedl ¥ ¥ 9El S 9T

1. H3d A AR D
2. Paa B AR D
3. Had C 3R E
4 BT A ARE
Options :
71087041725. 1
71087041726. 2
71087041727. 3
71087041728, 4

Question Number : 113 Question Id : 71087010459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Select the correct statements from the following:

A. The year 2012 marked the 40" anniversary of UNESCO's 1972 Convention concerning the
protection of the World Cultural and Natural Heritage

B The Convention experienced a crisis on several fronts - financial, organizational and political

C. These crises do not cause a threat to its mission and its effectiveness to protect and
preserve

D. UNESCO represents the aspirations of the International community
Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Dand Conly
4. C, B and D only
Options :
71087041729. 1
71087041730. 2
71087041731. 3
71087041732. 4

Question Number : 113 Question Id : 71087010459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad o ¥ el oyd 9T ;

A. 94 2012 H [d% GRDA® SR Wdlad [GU9d & G0 & Ya9 § g43D! @i 1972 $i I &I
40 df aTie ot

B. 39 OfY & 9F+ faTig, Oie® 3R IeHIa® - A9l U 9He 34|

C. 3 dchel ¥ 5Hd AR ofR JRE&T 3R W& # SHd! wHIfdal &l Wil el 3dd gofl o
D. gi%p! STRIPIT GHGH B Sdiensii o UiaFifEd &1 gl
Fafaied faedl 5 9 98 3T g .

1. ®3d A, B3R C
2. Pad A, B3R D
3. PadAA, D AR C
4. ®dac, BARD
Options :
71087041729. 1
71087041730. 2
71087041731, 3
71087041732. 4

Question Number : 114 Question Id : 71087010460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are the toy trains with their route length in kilometres. Which of the following are
correct?

A. New Jalpaiguri - Darjeeling route is of 96 km

B. Kalka - Simla Railway route is 83 km

C. Nilgiri Mountain Railway is of 46 km

D. Neral - Matheran Railway is 20 km

Choose the correct answer from the options given below:

1. A and B only
2. Cand D only
3. B and C only
4. D and A only
Options :
71087041733. 1
71087041734. 2
71087041735. 3
71087041736. 4

Question Number : 114 Question Id : 71087010460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d faam yamtsat (2 o) 3R S aFl @1 aas (Al ) 81 713 o T8 dyH g
A. oIS S! - GIfaiiciTl ¥a AR i dars 96 BT B
B. TTC®] - R Y90 & dars 83 fB.ATL B

C. AR g4t YoEr $1 aals 46 &AL B
D. =TT - AR SaHr @1 das 20 AR
Fafafad fasedl & ¥ U8l o= 9T

1. H3d A 3R B
2. $ad C AR D
3. PaaB AR C
4 BT AARD
Options :
71087041733. 1
71087041734. 2
71087041735. 3
71087041736. 4

Question Number : 115 Question Id : 71087010461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of mechanistic organizational structures?
A. High Complexity

B. High Formalisation

C. Diverse Control

D. Lateral Communication

E. Flexible task Definition

Choose the correct answer from the options given below:

1. A and D only
2. B and D only
3. A and B only
4. D and E only
Options :
71087041737. 1
71087041738. 2
71087041739. 3
71087041740. 4

Question Number : 115 Question Id : 71087010461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it FitTeiHe sl 31 Fakiied § 9 o 9 fafpan § 2
A. I SfcTd

B. I SUFRIBRUI

c. fafae g

D. UTi&d guyur

E. 750 10 URHTH]

Fafeied fdeeal § ¥ allis Jugad S -y :

1. H3d A AR D
2. Paa B AR D
3. Pad A 3 B
4, H3AD 3ARE
Options :
71087041737. 1
71087041738. 2
71087041739. 3
71087041740. 4

Question Number : 116 Question Id : 71087010462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Qualitative Description

Research

A.Phenomenology  |I. Studying human experiences based on the idea that the human

experience is determined by the contact

B. Ethnography 11.Studying cultures through methods that involve become highly active
within the culture

C. Grounded Theory |lll. Describing the documented history of a person, group or event

D. Case Studies IV. Posing questions about the information provided by the respondent
or taken from historical records

Choose the correct answer from the options given below:

TA-ILB-1ILC-ILD-V
2ZA-ILB-ULC-IV,D-1
JA-ILB-IV,C-LD-1
4 A-1L,B-ILC-1IV,D-1
Options :

71087041741. 1
71087041742. 2
71087041743.3
71087041744. 4

Question Number : 116 Question Id : 71087010462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AT YA |I. HHG HTHA! BT 35 YR W T (& Gd 34
fas o @ Ruia g &
T 1. U ufaal gR1 U¥pld @1 g il Ypla § @y

AY® GHg el &
C. YR 1. fodt oafa, YE o1 el & axdiden Sidery &l auiH
G GGl
D. &fad V. SeEIdl HYaT URIi® adal gl (96 sHaR]
T TR UY ISHT
i fou e faseal o § Ugl IR gMu:

TA-LB-ILC-IILD-V
ZA-IL,B-ULC-IV,D-I
JA-ILB-IV,C-1,D-1I
4 A-1L,B-ILC-IV,D-1l
Options :

71087041741. 1
71087041742.2
71087041743. 3
71087041744. 4

Question Number : 117 Question Id : 71087010463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 1l

Strategy Business environment
A. Defender . Stable

B. Analyzer Il. Changing

C. Prospector Il. Inconsistent

D. Reactor V. Dynamic

Choose the correct answer from the options given below:

TA-LB-ILC-II,D-1IV
ZA-ILB -, C-IV,D-|
JA-ILB-V, C-L,D-1
AA-I,B-ILC-1IV,.D-1lI
Options :

71087041745. 1
71087041746. 2
71087041747. 3
71087041748. 4

Question Number : 117 Question Id : 71087010463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



a -1l

RUETI] AGAIAD TR
A, T&D . R

B. fawiu® |1, GRgaEd

C. Sueil 111, 3T

D. ufgmdf v, TRl

i fou e fadseal o § Uel IwR gMu:
1TLA-L,B-1ILC-1I,D-IV

2A-1,B -1, C- IV,D-|

JA-ILB-IV,C-1,D-1I
4 A-1L,B-ILC-IV,D-1l
Options :

71087041745. 1
71087041746. 2
71087041747.3
71087041748. 4

Question Number : 118 Question Id : 71087010464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Bias in Decision Making |Description

A. Anchoring Bias l. The tendency to believe falsely after an outcome of an event is
known that one would have accurately predicted that outcome

Il. The tendency to seek out information that reaffirms past

B. Confirmation Bias ) , , ) ,
choices and to discount information that contradicts the past

judgment

C. Availability Bias lI.The tendency for people to base their judgments on
information that is easily accessible to them

D. Hindsight Bias IV. A tendency to fixate on initial information from which cne then

fails to adjust adequately for subsequent information

Choose the correct answer from the options given below:

TA-ILB-1ILC-ILD-V
2ZA-ILB-ILC-I,D-IV
3A-IVB-ILC-1lIl,D-1I
4 A-1,B-LC-1V,D-1lI
Options :

71087041749. 1
71087041750. 2
71087041751. 3
71087041752. 4

Question Number : 118 Question Id : 71087010464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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= 111, T @t 3u- il ol UE a1 uR H1uRd & o1 ughd
5 d 39! T¥aar Y Ugd &l |

D. v. Ut SRTY® a1 1R Hulko &1 ughl oigf 9 4 916 | uid
Ugesl B aTeh gl & T vt SeEieH o fawd e 2
i fou e fadseal o  Ugl IR gMu:

TA-LB-ILC-IILD-V
ZA-ILB-ILC-1L,D-V
JA-IV,B-ILC-MLD-I
4 A-ILB-LC-1V,D-1I
Options :

71087041749. 1
71087041750. 2
71087041751. 3
71087041752. 4

Question Number : 119 Question Id : 71087010465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List II

Author Publication

A. Ryan C |. Empty Meeting Ground: The Tourist Papers, Routledge, London

B. Wahab S Il. Tourism Management, Tourism International Press, London

C.Smith V Ill. Recreational Tourism: A Social Science Perspective, Routledge, London

D. MacCannell, |IV. Host and Guests: An Anthropology of Tourism, University of Pennsylvania,
D Philadelphia

Choose the correct answer from the options given below:

TA-ILB-IWV,C-L,D-1
2ZA-IV,B-IILC-1I,D- 1
JA-ILB-LC-IILD-V
4 A-1LB-1LC-IV,D-1|
Options :

71087041753. 1
71087041754. 2
71087041755.3
71087041756. 4

Question Number : 119 Question Id : 71087010465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

Tdi- ([

NECCZMNICaFC]

%W- . UPT HIfdT U8 E & gRee Uud, I3y, Tie

E'ﬂw‘ I A HSHE, ZREH e UF, T

%iﬁm 1. Rfspuge 2iees : T Ui isy udiufdeg, Igedy, e
oo v, @ Oe fed o i 3t 2R, gianid
P 1 U=, feaisicmar

- feu ¢ faswedl # 9 wel I 9 :

TA-ILB-V,C-1,D-1
2ZA-IV,B-ILC-ILD- |
SA-ILB-LC-ILD- IV
4 A-ILB-ILC-IV,D-I

Options :

71087041753. 1
71087041754. 2
71087041755. 3
71087041756. 4

Question Number : 120 Question Id : 71087010466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il
Books: Social and Environmental
Author ,
literature
A. Paul Ehrlich . Silent Spring, 1962
B. Rachel Carson Il. The Population Bomb, 1968
C. Forrester, J Il. World Dynamics, 1971

D. Goldsmith, E, Allen, R, Allaby M, Davoll, J,

IV. BluePrint of Survivor, 1972
Lawrence 5

Choose the correct answer from the options given below:

TA-ILB-1L,C-1V,D-1l
ZA-ILB-1LC-1ILD-IV
JA-ILB-V, C-ILD-|
4AA-I,B-ILC-IV,D-1l
Options :

71087041757. 1
71087041758. 2
71087041759. 3
71087041760. 4

Question Number : 120 Question Id : 71087010466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :

RGIg gal-1l

BEEET ELSEa

A, OIS Ugiiag . gTgcie S - 1962
B. IT BIE 1. & OTYCi= &1 - 1968
C. BhI%R, of 11, gt ST, 1971
D. TTiceY 3, UeH, 3R 3iedl U4, S aid, o |Iv. & file offs Falsay,
g, Ty 1972

i fou e fadeal o  Ugl 9w gMu:

TA-ILB-LC-IV,D-IlI
ZA-IL,B-LC-IILD-V
JA-NILB-IW,C-1LD-|
4 A-1L,B-IILC-IV,D-1i
Options :

71087041757. 1
71087041758. 2
71087041759. 3
71087041760. 4

Question Number : 121 Question Id : 71087010467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

A.Responsiveness |l Entrance to a country park being designed to encourage exploration
on foot rather than by car

B. Credibility l.Travel agent offering advice about long haul travel
C. Competence Il. Answering a customer enquiry on the same morning
D. Tangibles IV. Tourist information staff knowing exactly where places are located

and how best to arrive there

Choose the correct answer from the options given below:

TA-NLB-W,C-II,D-1
ZA-1LB-1L,C-1I,D-V
JA-ILB-ILC-IV,D-I
4 A-IV,B-1U,C-1ID-1
Options :

71087041761. 1
71087041762. 2
71087041763. 3
71087041764. 4

Question Number : 121 Question Id : 71087010467 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



j.ﬁ:*ﬁaaﬁapém@?ﬁém%maqwﬁiaaw
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B. sofafaferdl |i1. forddt oiell amn & fawg o Cad toie g & 1S 9ag |
c.afudg . 34l gag foddl Ures & gardl &1 Jaid oAl
V. G o1 HHAIR] fofe Gdid Ul gl i @ls [d=y
D.fea  [oud wel fUfY & ofR 981 $8 Ua9 o e Y ugaT =
ghdi gl
i feu T f9eedl § 9 98l o g

TA-NLB-W,C-II,D-1
ZA-1LB-1L,C-1I,D-V
JA-ILB-ILC-IV,D-I
4 A-IV,B-1U,C-1ID-1
Options :

71087041761. 1
71087041762. 2
71087041763. 3
71087041764. 4

Question Number : 122 Question Id : 71087010468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

A. American Express |I. Known as Apollo in the USA, a subsidiary of Cendant Corp, founded by
11 major North American and European Airlines

B. Amadeus Il. In October 2013, officially unveiled it's new unified brand to the world:
the "Sunny Heart"

C. Galileo lIl. By the late 1860s, formed a cartel along with four other subsidiary
firms to divide territory to dominate the business

D. Thomas Cook IV. Founded by Air France, Iberia, Lufthansa and SAS and in 1995 merged
with Continental's System one GDS

Choose the correct answer from the options given below:

TA-NLB-W,C-II,D-1
ZA-W,B-1C-1Il,LD-1l
3A-ILB-IV,C-1,D-1
4 A-IV,B-1LC-1IL,D-I
Options :

71087041765. 1
71087041766. 2
71087041767. 3
71087041768. 4

Question Number : 122 Question Id : 71087010468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 i Faii-1l & 9y GAferd ifor :
gal-| Tl-Il
A.

" . L TH U H Uil & w0 H Jd, H5¢ DY B Hedd DUl
- 11 WHE SR SHED] 3R QAU TeRez-! gRT =4

B. 1. 3fageR 2013 H SH@HIRG €Y H 30 U Udidpd dis
ECTE |9l BT 1 9% & TH- TG fohdT|

i 1 1860  GRIP & 3fd H IR TR EM4! 6+ & ol &3 &l
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D. YT [IV. U3R BT ATadRdl, qudei 3R U9 U Ty gRI -1iUd
DD #R 1995 H Bife-cd & [G%d o= ol S g ¥ faey

i feu T 9@l § 9§ 98l o gHe

TA-NLB-W,C-II,D-1
ZA-W,B-1C-1Il,LD-1l
3A-ILB-IV,C-1,D-1
4 A-IV,B-1LC-1IL,D-I
Options :

71087041765. 1
71087041766. 2
71087041767. 3
71087041768. 4

Question Number : 123 Question Id : 71087010469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List II

A, lastminute.com I. An online travel intermediary based in Bangkok

B. A2Z Professional Travel  |II. Started in 2000, specializes in web-based software

Ltd. development for the travel, tourism and hospitality industry
C. Cultuzz l1l. Started an online tour operator limited company in 2000,

specializing in incoming tourism

D. Italian Tourist web guide |IV. Launched in the UK in October 1998 by Brent Hoberman and
Martha Lane Fox

Choose the correct answer from the options given below:

TA-1L,B-NILC-IV,D-1
ZA-W,B-1C-1Il,LD-1l
JA-ILB-IV,C-Il,D-1
4 A-1,B-I,LC-1V,D-1I
Options :

71087041769. 1
71087041770. 2
71087041771. 3
71087041772. 4

Question Number : 123 Question Id : 71087010469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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] -1l
;ﬁ; e . S@1H [Yd TP S5 a1 Heaaal
B.UT WS
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TA-1L,B-NILC-IV,D-1
ZA-W,B-1C-1Il,LD-1l
JA-ILB-IV,C-Il,D-1
4 A-1,B-I,LC-1V,D-1I
Options :

71087041769. 1
71087041770. 2
71087041771. 3
71087041772. 4

Question Number : 124 Question Id : 71087010470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List 11

Hotel Chain Base Country
A. ACCOR l. USA

B. CHOICE I UK

C. COMPASS lll. Singapore
D. BANYAN TREE IV. France

Choose the correct answer from the options given below:

TA-IV,B-L,C-1I,D -1l
ZA-LB-ILC-LLD-IV
SA-ILB-IL,C-N,D-1
AA-ILB-IV,C-1lIlLD-|
Options :

71087041773. 1
71087041774. 2
71087041775. 3
71087041776. 4

Question Number : 124 Question Id : 71087010470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



| -1l

EESELENl S TR

A TR 1. HYdd Ao SEIDI
B. TR II. grEe s fdhiren

C. HE . TR

D. afFEA & V. BT

< feu U fadedl ¥ 4 UEl Ik &1 909 il :

TA-IW,B-1LC-1l,D-1I
ZA-ILB-U,C-1,D-1IV
3A-1L,B-LC-N,D-1i
4 A-ILB-IV,C-1IILLD-1
Options :

71087041773. 1
71087041774. 2
71087041775.3
71087041776. 4

Question Number : 125 Question Id : 71087010471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l

List | List Il

Food and Beverage Outlet Hotel Associated

A. Frontier l. The Oberoi Grand - Kolkata

B. Threesixty three Il. The Taj Mahal Palace - Mumbai
C. Masala Kraft 1. ITC Grand Chola - Chennai

D. Peshawri IV. The Ashok - New Delhi

Choose the correct answer from the options given below:

TA-IV,B-LC-I1,D-1
ZA-ILB-ILC-LLD-IV
SA-ILB-IL,C-N,D-1
A A1LB-IV,C-1I,D-I
Options :

71087041777. 1
71087041778. 2
71087041779. 3
71087041780. 4

Question Number : 125 Question Id : 71087010471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu e fawegl ¥ § Ol ST &1 904 oI ;

TLA-WV,B-LC-1,D- Il
ZA-ILB-ILC-1,D-IV
3A-1L,B-LC-N,D-1i
4 A-ILB-IV,C-1ILD -1
Options :

71087041777. 1
71087041778. 2
71087041779. 3
71087041780. 4

Question Number : 126 Question Id : 71087010472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following tourism organizations in order of chronology of their establishment
year:

A. Travel Agents Association of India

B. Indian Association Of Tour Operators

C. Federation of Hotel and Restaurant Association of India
D. Indian Tourism Development Corporation

Choose the correct answer from the options given below:

1. A B D,C
2.A B CD
3.B.ACD
4B A D C
Options :
71087041781. 1
71087041782. 2
71087041783. 3
71087041784. 4

Question Number : 126 Question Id : 71087010472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad uded a1 ®f 3901 |G & a¥ & HIabHER AN ;
A. CTT TolcH THIRIeEF it 3faan

B. 350 THIRUEH #h ¢ ey

C. BE¥EH 3HF gled Us Y& uyifaueH e 35T

D. HRd YgeH faeg FH

fFafeied famedl § 9 981 3w gHu

1.A B DC
2A B CD
3.B.ACD
4B ADC
Options :
71087041781. 1
71087041782. 2
71087041783. 3
71087041784. 4

Question Number : 127 Question Id : 71087010473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Research Plan of Conjoint Analysis comprises the following steps. Arrange the steps in the
order in which these are taken :

A. Decide attributes and levels

B. Rate or rank Data

C. Run dummy variable regression

D. Assess internal and external validity

E. Interpret the part-worth coefficients

Choose the correct answer from the options given below:

1.A B CD,E
2B, CDEA
3.CDEAB
4 A B, CED
Options :

71087041785. 1
71087041786. 2
71087041787. 3
71087041788. 4

Question Number : 127 Question Id : 71087010473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g fa=eiaur @l 2y gie | Fafaiad wmu fea da H ol § 2
A, 0T YT &R @1 Ao

B. X 41 3011 3fibg

C. STHTHT T FAIHT AT

D. a3 918 34T & ATHa

E. [UTds &b 321 Hed B SAReA]
- feu v fasedl ¥ ¥ 9El S 9T

1.A B CD,E
2B CDEA
3.CD EAB
4 A B CED
Options :

71087041785. 1
71087041786. 2
71087041787. 3
71087041788. 4

Question Number : 128 Question Id : 71087010474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of the Tourism Planning Cycle in the order in which these are
taken :

A. Monitoring and evaluation

B. Programming and implementation

C. Assessment of tourism-related resources

D. Analysis of existing tourism situation

E. Fixing Priorities

Choose the correct answer from the options given below:

1.A CEBD
2ZEDABC
3.D,CEBA
4. A B, C D, E
Options :

71087041789. 1
71087041790. 2
71087041791. 3
71087041792. 4

Question Number : 128 Question Id : 71087010474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G JHTIeiD dh 3D HeH| B SJERY Hdl & fogH HeaRdd JiHiad ol 59 DeH! B
30U S gTcl A H S Ryd Difeld :

A. URAI&T d Hediod

B. U g fonaragd

C. Gdc el ganeH! ol e

D. faeram udes Ryfa &1 fazagu

E. MYFAPAIE fFad S
Fafeiad fgeeal § 9 981 3w gHU

1.A CEBD
2ZEDABC
3.D,C,EBA
4 A B, CDE
Options :

71087041789. 1
71087041790. 2
71087041791. 3
71087041792. 4

Question Number : 129 Question Id : 71087010475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of a marketing process model in a logical sequence
A. Capture value from customers to create profits and customer equity

B. Understand the marketplace and customer needs and wants

C. Construct an integrated marketing program that delivers superior value

D. Design a customer-driven marketing strategy

E. Build profitable relationships and create customer delight

Choose the correct answer from the options given below:

1.D,C, B AE
2.B.D,CAE
3.CDEAB
4 A B, CDE
Options :

71087041793. 1
71087041794. 2
71087041795. 3
71087041796. 4

Question Number : 129 Question Id : 71087010475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.D,C, B AE
2.B.D,CAE
3.CDEAB
4 A B, CDE
Options :

71087041793. 1
71087041794. 2
71087041795. 3
71087041796. 4

Question Number : 130 Question Id : 71087010476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Indian Hotel Chains in the order of their years of establishment :
A. Oberoi Hotels and Resorts

B. Taj Hotels, Palaces, and Resorts (Taj Group)

C. ITC Welcomgroup of Hotels

D. The Lalit Group of Hotels

E. The Park Group of Hotels

Choose the correct answer from the options given below:

1.B,A CD,E
2.B.AECD
3.BAEDC
4 A B, CED
Options :

71087041797. 1
71087041798. 2
71087041799. 3
71087041800. 4

Question Number : 130 Question Id : 71087010476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



RO 98 & HTER FElRad gledl ®f HH Y T ;

A. 3fTER1T gled 3R fardy

B. T4 sledd, Tode R Raidy (@ 998
C. TSIl daidH Bled 9498

D. & @feid Bled 948

E. G Uld gled 98

i feu 7w fgoeul # ¥ U5l 3w gHU:

T.B.A € D E
2B AECD
3.B.AEDC
4 A B CED
Options :

71087041797. 1
71087041798. 2
71087041799. 3
71087041800. 4

Question Number : 131 Question Id : 71087010477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following religious tourism sites from Morth to South:
A. Kartarpur Corridor

B. Meenakshi Sundarashwara Temple

C. Sita Ram Chandra Swami - Bhadrachalam temple

D. Karni Mata Temple

Choose the correct answer from the options given below:

1.D,C B, A
2.ACBD
3.B.D,C A
4. A D CB
Options :
71087041801.
71087041802.
71087041803.
71087041804.

AW O~

Question Number : 131 Question Id : 71087010477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. HiaR™dE= WA Hgaod Hiet

D. B Hiel HieR

i feu 7w fgoeul # ¥ U5l 3w gHU:

1.D,C B A
2ACBD
3.B,.D,C A
4 A D CB
Options :
71087041801.
71087041802.
71087041803.
71087041804.

AW N —

Question Number : 132 Question Id : 71087010478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



While taking decisions, a manager responds to the following questions. Arrange these
questions in the appropriate order

A. What is intended to be daone?

B. What is authorized to be done?

C. What should be done?

D. What is actually done?

E. What can be done?

Choose the correct answer from the options given below:

1.A CEBD
2B, CDEA
3.D,EABC
4 E CABD
Options :

71087041805. 1
71087041806. 2
71087041807. 3
71087041808. 4

Question Number : 132 Question Id : 71087010478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A CEBD
2B CDEA
3.D,EABC
4ECABD
Options :

71087041805. 1
71087041806. 2
71087041807. 3
71087041808. 4

Question Number : 133 Question Id : 71087010479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The following steps are inveolved in a factor analysis exercise. Arrange them in the order in
which these are taken

A. Construction of correlation matrix

B. Selection of the number of factors to be retained in the final solution
C.Interpretation of rotated factor solution

D. Factor Rotation

E. Checking the model fit

Choose the correct answer from the options given below:

1. A B D EC
2.A B CDE
3.B.CDEA
4.C, D A BE
Options :

71087041809. 1
71087041810. 2
71087041811. 3
71087041812. 4

Question Number : 133 Question Id : 71087010479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PR (G090 g H FHgiaiad 9 9 a6 | S 9ol o aid oH H ogaid o :
A. Tedsy Afcem &1 A
B. 3ifaH gy # §9¢ T & fou R dEsl &1 997

C. PHGNT PR GHTHH 61 ogRed]

D. FR® HHGT
E. AISd fthe @i oG
1 feu 7 fasedl # 9 951 3w 9iFY

1.A B DEC
2.A B CDE
3.3BCDEA
4 C, D ABE
Options :

71087041809. 1
71087041810. 2
71087041811. 3
71087041812. 4

Question Number : 134 Question Id : 71087010480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following travel organizations/associations in the order of their establishment :
A. African Travel Association (ATA)

B. European Tourism Action Group (ETAG)

C. World Association of Travel Agency (WATA)

D. Federation of International Youth Travel Organisation (FIYTO)

E. Internation Bureau of Social Tourism (IBST)

Choose the correct answer from the options given below:

1A C B ED
2 E B C A D
3.C, D.E A B
4D A E C B

Options :

71087041813. 1
71087041814. 2
71087041815. 3
71087041816. 4

Question Number : 134 Question Id : 71087010480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad amn At / TaIRuRH & 3-d ®IY- 98 & HHER T :
A. 3TBid- cad THIRURH T g)

B. QRITUT gReH TR 9U (3 <1 T o)

C. Gts THIRIURH HIF <9 Toidle (S U Q)

D. B3¥H AP AT Gy <ad HRHISuRA (U 318 ds of 3fl)

E. Sc3-1RHd o1 ST 91Ed gl

Prafifad fwed & 3 98 s R
1A C B ED

2E B C A D

3.3C, D E A B

4D A E C B

Options :

71087041813. 1
71087041814. 2
71087041815. 3
71087041816. 4

Question Number : 135 Question Id : 71087010481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following historical events in chronicle order starting from the earliest :
A. Dandi March

B. Quit India Movement

C. lallianwala Bagh massacre

D. Simon Commission

Choose the correct answer from the options given below:

1.B, D C A
2ZAC D, B
3.3.C D A B
4D, A, CB
Options :
71087041817. 1
71087041818. 2
71087041819. 3
71087041820. 4

Question Number : 135 Question Id : 71087010481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafaa tagd gearell & gy Ugdl ¥ 3IRY R BIapHgR Tl ;
A. TSI HE

B. 4R G5! SiaieH

C. Sfcraiarar a7 gldhis

D. FIgH- HHEH

Fafeied fa®eal 5 ¥ 981 3w 9L

1.B, D C A
2AC D B
3.C, D A B
4D, A CB
Options :
71087041817. 1
71087041818. 2
71087041819. 3
71087041820. 4

Question Number : 136 Question Id : 71087010482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Leaders rated as highly ethical tend to be evaluated very positively by their
subordinates, who are also more satisfied and committed to their jobs
Reason R: Followers of such leaders are also more motivated and perform better

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087041821. 1

71087041822. 2

71087041823. 3

71087041824. 4

Question Number : 136 Question Id : 71087010482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :

HHHYA (4) ; AAfE IfAF AF I ard Tarsf BT 396 U8 AdHf gRT Safid 9hRIE®
el food] Sl & ol 30 &l 4 i dqe Sk 99fdd g

D (R) : T Aaraft & S ffte URa off §1d § 3R 4fUE o1 uesiH o &
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHT U8l € SIR (R), (A) B! Hol U 5

2. (A) 3R (R) GIFT Gal & 311% (R), (A) DI Ug! oURed Tal ol
3. (A) 98l 8 U (R) Wel Tl &

4. (A) Hg1 781 & WRd (R) &1 B

Options :

71087041821. 1

71087041822, 2

71087041823. 3

71087041824, 4

Question Number : 137 Question Id : 71087010483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Many sellers often confuse wants and needs
Reason R: They suffer from ' marketing myopia’. They are so taken with their products that
they only focus on only existing wants and lose sight of underlying customer needs

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087041825. 1

71087041826. 2

71087041827. 3

71087041828. 4

Question Number : 137 Question Id : 71087010483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :
DY (A) ; 3D [dobdl 3531 31X oTed & aid YiHd 8id o

dd (R) : d Hid (¢ AAINYAr ¥ 9% 8id ©1 d 30+ 3dIG U 304 FUIEd & [ 391 G &M
qe® B T 1 IR Siad aidl & AR 39S iR [@Ul ohexd 3! HiTel 9 3i=id gl Sl
H

SUgdd Syl & 3Tt H Fgifdd fdepeal § 4 w81 Sw g -

1. (A) 3R (R) GHT U8l € SIR (R), (A) B! Hol U 5

2. (A) 3R (R) GIFT Gal & 311% (R), (A) DI Ug! oURed Tal ol
3. (A) 98l 8 U (R) Wel Tl &

4. (A) Hg1 781 & WRd (R) &1 B

Options :

71087041825. 1

71087041826. 2

71087041827. 3

71087041828, 4

Question Number : 138 Question Id : 71087010484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Established in 1934, the Oberoi Group of Hotels is a pioneer in Hospitality
Services, The Oberoi Group firmly believes that ‘Guest is Everything’

Reason R: To offer Immersive Experiences for the Travel Connoisseurs the Oberoi Group has
launched SeleQtions Hotels

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087041829. 1

71087041830. 2

71087041831. 3

71087041832. 4

Question Number : 138 Question Id : 71087010484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :

HV@YH (A) : 1934 H RITUG f1ag sied Wi 3Nfaw Yarsi & &3 H ool g1 e g @
A AT R D R R AR

d (R) : 30 TURTE! 11541 o1 [ARIP 3FHd UGH B ® AT ey THE - GoawH
(Selections) E_"E_Cf &WHW%I

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel SRAT 751 5|
3. (A) TE1 8 R (R) TE1 T &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087041829. 1

71087041830. 2

71087041831. 3

71087041832. 4

Question Number : 139 Question Id : 71087010485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Emperor Babur detested the heat, dust, flies, and violent winds of the Indian
summers but he was determined to stay here
Reason R: He responded to the climate by building gardens and baths

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087041833. 1

71087041834. 2

71087041835. 3

71087041836. 4

Question Number : 139 Question Id : 71087010485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gl oy R TN § : U@ @l i@y (A) SR GHR &I ad (R) Pel T & :

HYEHYH (A) ; TGS ST6R f AHT H HRd @ 4, U, 7 P YUs AR Hiegyl g 9a1 ff
39 gl Td- ®I X0al ®1 ol |

dd (R) : I HIEH B HadTadl 9f - Fid AR FHARIR g-9dTHR (HAl.
Sudd BYH! & Scid o [gifcd fadedl § § Hallte Suddd 3wk 9 ;

1. (A) 3R (R) GHIT Tl & IR (R), (A) P! ol AR &

2. (A) ¥R (R) GHI T8I € &R (R), (A) DI Uel SRAT 751 5|
3. (A) TE1 8 R (R) TE1 T &

4. (A) HEl 981 8 IR (R) 9E1 B

Options :

71087041833. 1

71087041834. 2

71087041835. 3

71087041836. 4

Question Number : 140 Question Id : 71087010486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Online auction is a new distribution mechanism in the market place and can have
wider implications for the tourism industry and Cultuzz specializes in web-based software
development for the travel, tourism, and hospitality industry

Reason R: Streamlining the process of auction, reservation and booking is critical for the
operational efficiency of the system

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is incorrect but R is false

4. A is correct but R is true

Options :

71087041837. 1

71087041838. 2

71087041839. 3

71087041840. 4

Question Number : 140 Question Id : 71087010486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



CIERA LT AT

HYA- ; SIS ATl STAR H U A1 [4aR01 oFf & SR gded 39 H 39 @ FHigard 8l
Gohd © SR T, e R Siaw TEiT & [T 39 Sf1e1id Seeddr & faerd d deed B
[EEERGIE

BYA- 1| - AT, HRET SR g7 DI UishyT DI Youafeyd BA1 WUl o UHTd! HaieH o fog
Aewyll &

Suddad HYAl & faie | it [deedl & U 98l 3w 91 :

1. DY | 3R 1| GHT gl

2. Y | 3R || GFf Tad &

3. BYH-1 9 8, foog dY-11 Ta7d B
4. DYH-| A 8, foog HYH-11 a1 B
Options :

71087041837. 1

71087041838. 2

71087041839. 3

71087041840, 4

Sub-Section Number : 2
Sub-Section Id : 710870289
Question Shuffling Allowed : Yes

Question Id : 71087010487 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the given passage and answer the questions that follow

There are about 700 types of legumes in the world but only a handful are traded commercially
as food. These include the pulses, an integral part of the Indian diet. For vegetarians, pulses
are the most easily available source of proteins. There is archaeological evidence to show that
pulses were domesticated early in most centres of erigin. In the old world remains of Hacilar in
Turkey and Beidha in Jordan show traces of domesticated peas, beans and lentils. Dried
legume seeds are known as pulses in India. India has 90% of the total global area under
pigeon pea, 65% under chickpea and 37 % under lentil. Despite their importance, they are
often cultivated in deprived soils and this has led to a decline in production, resulting in high
prices. Arhar or Toor, Moong, Urad, Masoor, Moth and Lobia are some of the common pulses
available in markets in India. Other than the commercially traded pulses in the country,
communities consume legumes specific to that area. Ameng them, 'Naurangi’ is eaten by
people in Uttarakhand. Pulses(Dhals) are used in myriad ways. These can be cocked into thick
medium and thin preparations; for example meetha masocor of North India, spicy thuvar
sambhar of South and soup-like Rasam. Mix dhals feature in the popular dish dhansak of :

Sub questions

Question Number : 141 Question Id : 71087010488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mix dhals feature in the popular dish ‘"dhansak’ of the :

1. Parsis

2. Hindus

3. Muslims

4. Buddhists
Options :
71087041841. 1



71087041842. 2
71087041843. 3
71087041844. 4

Question Number : 142 Question Id : 71087010489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Despite their importance, pulses are often cultivated in deprived soils and this
has lead to a steady decline in production, resulting in high prices

Reason R: Lack of good buyback policy by the government also distresses farmers. This has
led to a reduction in consumption

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087041845. 1

71087041846. 2

71087041847. 3

71087041848. 4

Question Number : 143 Question Id : 71087010490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Panchbele-usal’ is a popular dish made by mix-dhals in the state of :

1. West Bengal
2. Bihar

3. Maharashtra
4. Haryana
Options :
71087041849. 1
71087041850. 2
71087041851. 3
71087041852. 4

Question Number : 144 Question Id : 71087010491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List I

List | List Il

Dish Regional Cuisine
A. Moth Dhal I. Uttarakhand

B. Gahat Dhal Il. Punjab

C. Punj Ratni Dhal lIl. Rajasthan

D. Koottu (with Green Gram Dhal) V. Tamil Nadu

Choose the correct answer from the options given below:

TA-ILB-LC-I,D-V
ZA-IW,B-LC-1,LD-IlI
3A-ILB-U,C-L,D-IV
4 A-1L,LB-IV,C-1I,D-1l
Options :

71087041853. 1
71087041854. 2



71087041855. 3
71087041856. 4

Question Number : 145 Question Id : 71087010492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Bikaneri Bhujia Namkeen is very popular and consumed often with tea and other beverages. It
is prepared from:

1. Moong and Chana Dhal
2. Chana Dhal

3. Moth and Chana Dhal
4, Arhar Dhal

Options :

71087041857. 1
71087041858. 2
71087041859. 3
71087041860. 4

Question Id : 71087010487 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Frafaf@ ey $1 uflte ot T F U FEEER F IR WIS I S UMl F
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JUART Hfed Ugel 3RH B 741 411 A 3% ¥ O1 § gidber AR S H 9541 & 3auy U
QUART &1 Hey, Bied! R e & &% &¥id & | §E@! g5 Biadl & & HRd | gl & ©0 3
9 Od 81 $9 ai¥® §F%a 3 8 YRd § 90 HiATd &3 H 3Rex, 65 ufaga § Hedl 3R 37
Tia=d | 5T B Wl Sl §1 Y- He & Siae[s, SgHl Sl Wdl TR gl H 8l § 3R 39
HRU 35 Idled H FR1Ge 313 & o uRUE WEY 3781 BiHd Sl W6l ol 3Re a1 R, 47,
355, T, HIg 3R wifad YR H Rl § ST A9 & &1 o% H aitifids €9 4 SR &I
S arelt g1a & SHiaiad, THE 45 $I AR Bl ®7 IuHIT & 1 599 ° U IR @I
ITRIGUS & T WId &1 gldl &1 IUanT 4= didl Y f6dr 91 g1 3= e, 9999 3R gdd
w0 T UHE] 9 9l €, 366U WEY 3R YRd H U381 993, Glam &1 990eR yai 9mR
R gy G4t 3 |

Sub questions

Question Number : 141 Question Id : 71087010488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ffafed 9 4 fye! die il v 4oe BiEd e 9 §9d1s 7

Options :
71087041841. 1



71087041842. 2
71087041843. 3
71087041844. 4

Question Number : 142 Question Id : 71087010489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl FYA RU TN T : U &l AUDHY (A) AR GE @I db (R) Bal ™I & :

HYHYH (A) ; AU U< & d19alg, aldl &1 agdl Gd [H2] § Edl &1 9l & AR 396 SR
Il ¥ R fRIae 3frs ¢ [Sad URUTEEY $i8d $dl g5 o

d® (R) : TRER gRI =31 4 Hifd &1 2iH1d Hl f[HaH] o Gdheusd s91d1 81 39D DRI JuHA
o &l 35 8
IUdd @Y1 & 3ciid § it fadedl § 1 W8l 3w 94 ;

(A) 3R (R) THI TE1 § 3R (R), (A) BT Gel BT B
(A) 3R (R) GHI T8 & 3R (R), (A) D! Uel HRAT 8l o
(A)

{

A) TEl & IRq (R) ¥l Tel ¢
(A) T8I el & TR (R) Tl &
Options :

71087041845. 1

71087041846. 2

71087041847.3

71087041848. 4

1.
2.
3.
4

Question Number : 143 Question Id : 71087010490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U99d - 390 UP Ald U ol g off (Hi8d Gl & S9anT 4 Ieg H a9l 9idl &

1. OTEE S

2. faBR

3. HgRRTE

4, grgmon
Options :
71087041849. 1
71087041850. 2
71087041851. 3
71087041852. 4

Question Number : 144 Question Id : 71087010491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tail-1 B Gai-1l & Gy GHfd DI :

gel-| -1l

A. 113 gId |. 3TRRATS
B. 7T8d GId IR

C. USI Idl g1 1. I
D. Bel (8¢ I $I &I & TY) v, AT
i feu T1u faseal # 9 U8l IR gu:

TA-ILB-LC-I,D-V
ZA-IW,B-LC-1,LD-IlI
3A-ILB-U,C-L,D-IV
4 A-1L,LB-IV,C-1I,D-1l
Options :

71087041853. 1
71087041854. 2



71087041855. 3
71087041856. 4

Question Number : 145 Question Id : 71087010492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SR YT TS TS ey ¢ 3R 54 95T I8 3 379 Ug-ugrdl o 9y fomr &
%1 g8 Myfeied & 9 fog 9 9uR g1 oa1 § 2

1. HT I oA GId
2. -1 qld

3. A6 g ard
4, 3REI A
Options :
71087041857. 1
71087041858. 2
71087041859. 3
71087041860. 4

Sub-Section Number : 3
Sub-Section Id : 710870290
Question Shuffling Allowed : Yes

Question Id : 71087010493 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)

Question Label : Comprehension



Read the given passage and answer the questions that follow

One of the most popular winter sports in India, ice skating has found a patron body in Ice
Skating Association of India. Shimla is a great destination for trying your hand (or feet) at ice
skating. An lce-Skating Carnival is organized here every year in January by the Ice-Skating Club
of Shimla. Figure skating and ice hockey are a part of this carnival. Kufri, Auli, Narkanda,
Manali, and Gulmarg are the other popular ice skating destinations of India. While there are
several artificially made indoor ice-skating rinks in India, there's nothing like the snow-clad
mountains for the real experience.

Nothing beats the experience of meeting nature face to face at a leisurely pace. If you wish to
scale and climb up to those snowy paths and peaks, you need to have high fitness levels,
tolerance of biting cold and strong will power. The winter treks in India though are shorter in
distance and have low altitudes but it no way means that the treks are easy. Most of the treks
are pretty demanding because of the extremely cold weather. Nevertheless, breathtaking
panoramic views of the snow-capped peaks and tranquil wilderness make all this worthy. India
is a popular trekking destination and flocked to by trekking enthusiasts from all around the
globe in the winter months. Kanchenjunga trek, Nanda Devi trek, Chadar Frozen River trek,
Chopta Chandrashila trek, Parashar Lake, Hampta Pass trek, etc are some of the most popular
trekking routes in India.

Sub questions

Question Number : 146 Question Id : 71087010494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Munsiyari is one of the famous trekking sites. It is situated in :

1. Himachal Pradesh

2. Jammu and Kashmir
3. Ladakh

4, Uttrakhand

Options :

71087041861. 1
71087041862. 2
71087041863. 3
71087041864. 4

Question Number : 147 Question Id : 71087010495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List I List I

Trekking Destination State/ Union Territory
A. Kanchanjunga I. Uttrakhand

B.Chadar Frozen River Il. Himachal Pradesh

C. Chopta Chandrashila 1. Sikkim

D. Hampta Pass IV. Ladakh

Choose the correct answer from the options given below:

TA-ILB-LC-IV, D-1l
ZA-1LB-HLC-ILD-IV
3A-ILB-IV,C-L,D-Il
4 A-IV,B-ILC- l,D-1
Options :

71087041865. 1
71087041866. 2



71087041867. 3
71087041868. 4

Question Number : 148 Question Id : 71087010496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which State/Union Territory is Auli situated?

1. Himachal Pradesh
2. Uttarakhand

3. Sikkim

4, Jammu and Kashmir
Options :

71087041869. 1
71087041870. 2
71087041871. 3
71087041872. 4

Question Number : 149 Question Id : 71087010497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ice Skating Carnival is organised by the lce Skating Club of Shimla. In this carnival, one of the
popular games is :

1. lce football
2. Ice trekking
3. Ice hockey
4. Ice climbing
Options :
71087041873. 1
71087041874. 2
71087041875. 3
71087041876. 4



Question Number : 150 Question Id : 71087010498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Atal Bihari Vajpayee Institute of Mountaineering and Allied sports organizes which one of the
following events?

1. Cricket festival

2. Ski festival

3. Music festival

4. Trekking with music festival
Options :

71087041877. 1

71087041878. 2

71087041879. 3

71087041880. 4

Question Id : 71087010493 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 71087010494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AR+ U Ui %1 el H Y U o | U [hd Xed / 99 g & H A g 2

1. TeArm uew

2. O 3R DIHR
3. Tgig

4, Jti[dUus
Options :
71087041861. 1
71087041862. 2
71087041863. 3
71087041864. 4

Question Number : 147 Question Id : 71087010495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gaii-1 1 Tai-1l & 9y Al i :

gal-1 g1

o 7o R I/ TR &
A, GrgTetl . FTRIETS

B. AIGX wHI g3 a1 I1. TeHTEe ued
C. TIYdr dgRrer 1. fafded

D. BaI &Y WAL

i feu T fawenl © @ 98 W 9T

TA-ILB-LC-IV, D-1l
ZA-1LB-HLC-ILD-IV
3A-ILB-IV,C-L,D-Il
4 A-IV,B-ILC- l,D-1
Options :

71087041865. 1
71087041866. 2



71087041867. 3
71087041868. 4

Question Number : 148 Question Id : 71087010496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
el FHufeiad o 4 fog Isg / 9oy &3 | R € 2

1. oo uewr

2. JTdUs

3. TaiemH

4, 8] 3R BIRAR
Options :
71087041869. 1
71087041870. 2
71087041871. 3
71087041872. 4

Question Number : 149 Question Id : 71087010497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e & 5y idT dad g1 UP A5 Y ThicT HRIE B A [5al oidl &1 39 YHRIE &
g Ed H TP &

1. 3159 peard
2. 3159 il
3. 59 BidI

4. A3y TR
Options :
71087041873. 1
71087041874. 2
71087041875. 3
71087041876. 4



Question Number : 150 Question Id : 71087010498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hed faerl areudl SReege Jie grdfHafi te varss wWidy Agfafaa § 1 fog 3 @1
3TGToH BT 8 7

1. fhobe I0a

2. &1 3Hd

3. TYiId 34

4, Tifld 3Hd o g1y i
Options :

71087041877. 1
71087041878. 2
71087041879. 3
71087041880. 4



